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1 CHAIRMAN: 1 MS. ELLIOTT:
2 Q. Good morning everybody. AndlI’ll call the 2 A. Yes, with onechange. It was brought to our
3 continuation of this hearingto order. | 3 attention through the work done by the
4 don't think thereare any preliminary or 4 consumer advocate that there was an error in
5 procedural matters to be considered, isthere, 5 the transfer to data by FA fromits prior
6 madame? 6 filing to this current filing, and as aresult
7 MS. GLYNN: 7 of that finding by the consumer advocate it
8 Q. No, Mr. Chair, only that the undertakings that 8 changes our overall rate level estimate of the
9 were provided by Mr. Doherty, we understand 9 rate level change need from about 21 percent
10 that they will be filed by close of business 10 down by about an additional one point decline.
11 today. 11 MS. GLYNN:
12 CHAIRMAN: 12 Q. Okay, thank you. And Ms. Elliott, we may have
13 Q. Okay,well inthat casel believel do turnit 13 covered some of al this through our
14 over to you. 14 examination of Mr. Doherty, but | do want to
15 MS. GLYNN: 15 walk through your findingsin your report. So
16 Q. Absolutely. 16 I'dask if you could describethe genera
17 CHAIRMAN: 17 approach that you take when reviewing
18 Q. You'reon. 18 facilities rate application.
19 MS. GLYNN: 19 MS.ELLIOTT:
20 Q. Andwe'd liketo present Ms. Paula Elliott 20 A. Well, with all filingsthat we review for the
21 from Oliver Wyman. Ms. Elliott, | understand 21 Board we compare the description of the
22 that you would like to be affirmed? 22 assumptions and methodol ogy that are presented
23 MS. ELLIOTT: 23 in the filing and we compare that to the prior
24 A. Yes. 24 filing, looking for consistency, and we also
25 MS. GLYNN: 25 compare that tothe Board’ s guidelines, so
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1 Q. Andl know how to do that thistime. 1 that we can see the assumptions and methods
2 MS.ELLIOTT: 2 that are used and if there are any changesin
3 A. Good. 3 that. So that’sthefirst step that we do.
4 MS. PAULA ELLIOTT (AFFIRMED) EXAMINATION-IN-CHIEF BY MS. 4 Thenwe'll review the calculations, all the
5 JACQUELINE GLYNN 5 steps that go through the preparation of
6 MS. GLYNN: 6 determining what therate indication change
7 Q. Thankyou. Thank youfor comingback and 7 is. Then, after we've completed that, we'll
8 joining us again today. The parties have 8 ask--we'll typically ask questions of the
9 agreed, Ms. Elliott, on your experience and 9 filer, so that we understand that we're sure
10 your expertise as an actuary, sowewon’t go 10 that we understand their assumptions and
11 through your background here this morning. | 11 methods. We might ask for a testing of
12 would ask that you state your current position 12 aternative assumptions. We might ask for
13 though, please. 13 additional data, and sometimes there are
14 MS ELLIOTT: 14 follow-up questions. And finally, after that
15  A. I’'mwith--I'maprincipal with the consulting 15 process is completed, we'll prepare our report
16 firm Oliver Wyman. 16 of findings.
17 MS. GLYNN: 17 MS. GLYNN:
18 Q. Thank you. Ms. Elliott, you prepared a report 18 Q. Isthere anything different inthis review
19 dated May 16th, 2014 dealing with facilities 19 compared to other reviews?
20 right filing for taxis and limousines, is that 20 MS. ELLIOTT:
21 correct? 21 A. Well, yes. Inthisparticular review for the
22 MS.ELLIOTT: 22 taxi filing we had just completed last year a
23  A. Yes 23 review of a taxi filing, and in that review
24 MS.GLYNN: 24 last year we found that a rate increase of 50
25 Q. Andyou adopt that report as your testimony? 25 percent was supported based on the information
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1 provided. FA had proposed a50 percent rate 1 trend rates.
2 increase and the Board approved the 50 percent 2 MS.ELLIOTT:
3 rate increase. Soin this particular filing 3 A Okay.
4 what we wanted to understand, what would cause | 4 MS. GLYNN:
5 such achange after thisprior filing, what 5 Q. Canyou explain generally what loss trends are
6 would cause such a change to come back in with | 6 and how they are used in thisfiling?
7 another proposal just north of 50 percent? So 7 MS.ELLIOTT:
8 that’suniquein thisfiling. And then the 8 A. Okay. Losstrendrates are simply trying to
9 second thing with this filing compared to many 9 take historical data, experience data that we
10 other filings is that we' re dealing with taxi 10 have, the taxi datain this particular filing,
11 datawhich isvery limited and very small, 11 and trying to project these historical costs
12 very volatile. Sowe want--there’salot of 12 that we have to what the cost level would be
13 uncertainty in thisfiling compared to other 13 for the proposed rate program that’ s going to
14 filings. Sothereare two things that are 14 be effect--in effect in 2015. So that’sthe
15 pretty unique about thisfiling compared to 15 purpose of losstrend rate, is to project them
16 other reviews that we do. 16 forward. Andin doing so an actuary will
17 MS. GLYNN: 17 examine historical datato try to identify the
18 Q. Ms. Elliott, can you summarize the findings on 18 patterns of changeinthat historical data.
19 the proposed rate level changes? 19 So we want to look at how many claims
20 MS.ELLIOTT: 20 occurred, and that's referred to as the
21 A. Okay. Probably easiestif |justgo tomy 21 frequency rate. |Is therea changein the
22 report. 22 frequency rate over time? We'retrying to
23 MS. GLYNN: 23 identify that pattern. Then we'relooking at
24 Q. Sure. 24 the average claim size which isreferred to as
25 MS.ELLIOTT: 25 aseverity, and isthat changing over time and
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1 A. Okay, | think it'spage 20. | hope it's 1 how isthat changing? And the combination of
2 there. So thistable we've presented for what 2 the frequency change and the severity change
3 we're referring to as the three key coverages 3 isthe loss cost change, and the loss cost is
4 or the threeindependently rated coverages, 4 the average cost per car insured, the average
5 third party liability, accident benefits, and 5 claim cost per car insured. So we'retrying
6 uninsured auto, and for those three coverages 6 to identify those patters. And in the process
7 based on assumptions presented by FA they had 7 of identifying those patterns we use something
8 arate indication of just shy of 82 percent. 8 referred to as a regression anaysis to
9 They’re proposing just over 50 percent, 56.7. 9 calculate that rate of change. And in doing
10 And based on assumptions that--and the Board |10 so we want to consider what time period should
11 guidelines that we thought were reasonable, we |11 we use? How many years of data? Are any data
12 were estimating a rate increase of 21.5 12 points--you know, what should we exclude when
13 percent with TPL just under 20 percent and 13 we do thisregression analysis? We also want
14 accident benefits and uninsured auto over a 14 to consider are there any external forces that
15 hundred percent. And as| noted earlier, due 15 are occurring that could affect these loss
16 to a finding by the consumer advocate of a 16 trend rates? And last, but not least, we also
17 transfer error made by FA, that 21.5 percent 17 want to consider the uncertainty of that data.
18 isalittle bit lower, about a point lower. 18 MS. GLYNN:
19 MS. GLYNN: 19 Q. DidFacility use itstaxi data to determine
20 Q. SoMs. Elliott, today | want to touch on the 20 those loss trend rates?
21 same three issues which we discussed with Mr. 21 MS.ELLIOTT:
22 Doherty, and those are the differences between 22 A. Did--yes. Sorry. Todetermine the rate
23 your report and Facility’s, and also 23 indicationsand to determine the losstrend
24 Facility’s report from last year and this 24 ratesthat are used Facility used commercial
25 year. Sowe'regoingto start with theloss 25 data, and thisis commercial datafor vans and
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1 trucks. Isit not taxi experience. There's 1 A. Yes. Each--every six months there’ s--it's

2 no taxi experience included in the commercial 2 called the General Insurance Statistical

3 data. It's completely separate. So Facility 3 Agency. Werefer to that as GIsa. Every six

4 used commercial datato determinelosstrend 4 months new datais released, provided by GIsA.

5 rates and then applied that to taxi 5 We analyze that data. We review the

6 experience. 6 experience. We prepare our report that

7 MS. GLYNN: 7 presents our losstrend rates that we've

8 Q. Anddid Oliver Wyman use the same data? 8 selected, and that report--we do this

9 MS.ELLIOTT: 9 separately for private passenger and
10 A. Yes, weused the same data, yes. 10 commercial auto. That report is then provided
11 MS. GLYNN: 11 to the insurers for their review and comment,
12 Q. Okay. So Ms. Elliott, is therea better 12 and based onany comments that might be
13 aternative than the commercial data? 13 received they aretakeninto consideration.
14 MS. ELLIOTT: 14 And then the report is approved by the Board
15 A. No, weare not saying that there's abetter 15 and it’ s published on the Board' s website for
16 aternative than using the commercial data as 16 insurersto use, to chooseto useif they so
17 FA had chosento do, but that addsto the 17 decide to.
18 uncertainty. We'retalking losstrend rates 18 MS. GLYNN:
19 based on commercial experiencewhichdoesnot |19 Q. Can you explain the parameters which resulted
20 include taxis and then using those loss trend 20 in the different loss trend rates being chosen
21 ratesto apply to taxi experience. 21 by yourself and by Mr. Doherty?
22 MS. GLYNN: 22 MS.ELLIOTT:
23 Q. Ms. Elliott, is there judgment applied in 23 A. Okay. Therearel guessfour key differences.
24 selecting loss trend rates? 24 Oneisthetime period that isselected. FA
25 MS.ELLIOTT: 25 has chosen to use a20-year experience that

Page 10 Page 12

1 A. Yes, there's considerable judgment, and one of 1 they review. That isa changefrom their

2 the things that we do iswe, in areview such 2 prior filing, and Oliver Wyman, we are--we

3 as this review or any other rate filing 3 take into consideration the trend rates over a

4 review, iswelook at the judgmentsthat are 4 ten-year and afive-year period. A second

5 made in selecting the loss trend rates by the 5 differenceis thereform factors. So with

6 filer in their prior filing, and then we look 6 looking at the reformsthat occurred in 2004

7 at the judgments that are made in thisfiling. 7 and determining the impact of any of those

8 So we want to see are there any differences, 8 reforms. Sointhisfiling FA has presented a

9 and that'san important issue. And thenin 9 very sizable impact for the reform whichisa
10 this particular filing the judgments that are 10 complete change from their prior filing where
11 made by FA there are many differences from 11 they found that the reforms had no impact on
12 their prior filing. And there are differences 12 the loss costs, and in thisfiling we have the
13 to the judgments that we have made in 13 same position that there was a not a material
14 selecting the commercial loss trend rates. 14 impact, a measurable impact of the reforms on
15 MS. GLYNN: 15 the claims experience. So those two items.
16 Q. Anddoyou agreewiththejudgments madeby |16 Another difference that we have aretheloss
17 Facility in selecting itsloss trend rates? 17 adjustment expenses. In this filing in
18 MS. ELLIOTT: 18 calculating itslosstrend rates FA excludes
19 A. No,wedon't agreewith all of the judgments 19 the loss adjustment expenses which isfine,
20 made by FA and that’swhy we have different 20 but intheir prior filing they included the
21 loss trend rates. 21 loss adjustment expenses when they were
22 MS. GLYNN: 22 calculating their loss trend rates. In our
23 Q. Canyouexplain the process of how theloss 23 guideline loss trend rates that we prepare we
24 trend rates become the Board’ s guidelines? 24 include the loss adjustment expenses, so
25 MS.ELLIOTT: 25 that’ s adifference. And then the fourth kind
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1 of key differenceis the selection of loss 1 distributed an exhibit on Friday which we'll
2 development factors. So lost development 2 come to later on.
3 factors are these factors that we apply to the 3 MS.ELLIOTT:
4 losses that have been reported to date to try 4 A. Okay. All right, so thisfor--for convenience
5 to estimate what the claims will ultimately 5 we merged two charts that are presented in our
6 be, what they will ultimately cost when all 6 Loss Trend Report. So the most recent report
7 the filesare closed and settled. So FA 7 that’s being used within in thisratefiling
8 selectsits set of loss development factors 8 are the findings based on data as of December
9 that it appliesto theindemnity only, the 9 2012. And that’'s on the right-hand side, and
10 losses only, and we select aset up of loss 10 on the left-hand side is an excerpt from our
11 development factors that we apply to the 11 report as of December 2011. So we put these
12 losses and loss adjustment expenses. So 12 side by side just for your visual convenience,
13 they’re the four differences. 13 and in our report we indicate or outline what
14 MS. GLYNN: 14 isthe change from year to year of theloss
15 Q. Okay. Andwe'll go into each of those ina 15 cost. So looking at each of these rows--well,
16 little bit more detail later on. Solet's 16 let's just takeas of December 2012 for
17 start with the data that you're using. We've 17 example. We're seeing the change in cost from
18 had alot of discussion around the data, and 18 26--2006 to 2007 is plus 29 percent; and the
19 itisthe commercial datathat Oliver Wyman 19 next year from 2007 to 2008 the cost dropped
20 used, isthat correct? 20 by 11 percent; and then the next year, down 9
21 MS. ELLIOTT: 21 percent; and it went down 6 percent; then it
22 A. That’scorrect. 22 went up 34 percent; and then it went down 17
23 MS. GLYNN: 23 percent. So what we'reseeing with this
24 Q. Okay. 24 commercia dataisit’'s pretty volatile, the
25 MS.ELLIOTT: 25 costs go up, they go down, they go up, they go
Page 14 Page 16
1 A. Yeah. 1 down. So that one issuewith this, the
2 MS.GLYNN: 2 difficulty with the stability of the data,
3 Q. Andyou fed that that data was stable enough 3 it'svery volatilefromyear toyear. The
4 to prepare the loss trend rates? 4 second issue with stability is of December we
5 MS.ELLIOTT: 5 have datathat’s provided as | said by Gisa,
6 A. The data isvery challenging to use and 6 but claims that were reported one year--sorry,
7 there' salot of instability in that data. So 7 the experience that's developed new
8 | think it would be helpful if | presented a 8 information the claims are being handled and
9 report, | believeit’s been distributed - 9 processed, so the estimate of those claimsif
10 MS. GLYNN: 10 you take for example, an accident year 2011,
11 Q. Okay. 11 the estimate of those claims that we know as
12 MS. ELLIOTT: 12 of December 2011, one year later at the end of
13 A. -that showsameasure if youwill of this 13 December 2012 that estimate has changed. So
14 volatility in the data. 14 point that out let melook at my--if we look
15 MS. GLYNN: 15 at 2008 to 2009, as of December 2011 the
16 Q. Okay,sowell just - 16 changewas minussix percent, but one year
17 MS.ELLIOTT: 17 later, now at the end of 2012, the change from
18 A. And- 18 2008 to 2009 is minus nine percent. Similarly
19 MS. GLYNN: 19 when we [ook from 2009 to 2010 we thought the
20 Q. We'll bring that up there firstif that's 20 changewas plusthree percent, but now one
21 okay. 21 year later we thing it’'sminus six percent.
22 MS. ELLIOTT: 22 And the big one isfrom 2010 to 2011, and we
23 A. Thank you. 23 thought it was a 58 percent increase based on
24 MS. GLYNN: 24 the information that was provided by GisaA, and
25 Q. It's actually Exhibit PE 2. We had 25 now one year later we think it's a 34 percent
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1 increase. So we have the volatility from year 1 A. Yes. Our modelsthat we runinclude--every
2 to year, each accident year asit changes, and 2 trend model that werun includesa look at
3 then we have the volatility of what we think 3 what the frequency trend rateis, what the
4 the estimateisasit changes over time. So 4 severity trend rate is, and what the |oss cost
5 when we think about this data, do we describe 5 trend rateis, but what | said earlier, when
6 it asstable? No, it's very unstable. It's 6 you take the frequency trend rate, the
7 very challenging to work with. 7 severity trend rate, the two combined equal
8 MS. GLYNN: 8 losscost trendrate. So wedo all three
9 Q. Thank you. Ms. Elliott, can you confirm that 9 every time.
10 in preparing these Loss Trend Reports every 10 MS. GLYNN:
11 six months that you look at datafor the end 11 Q. Andis the paper report that's established
12 of December and for the end of June? So for 12 every six months, isthat areflection of all
13 thisyear’ sreport you would have looked at 13 the analysis that you perform?
14 December 2012 and June 2012? 14 MS.ELLIOTT:
15 MS. ELLIOTT: 15 A. No, the paper report isa summary of what
16 A. Yes, sooneof thethingsthat wetry to do, 16 we're presenting. Itis by no means a
17 because we find the data has a lot of 17 reflection of all the runs that we do. We do
18 volatility to it, we--and totry to account 18 numerous runs and | think it might be a good
19 for that, we look at the estimate of the loss 19 point--1"d like to show from our December 2011
20 trend rates using the data as of the end of 20 report a summary of some of the runs, not even
21 June 2012, and then welook at it as of 21 al of therunsthat we present. And then
22 December 2012 when we prepare our most recent |22 I'll explain, you know, alittle bit more. If
23 report that we're referring to. And the most 23 we could bring up the 2011 report?
24 recent data point is the most unstable. It's 24 MS. GLYNN:
25 new and it’ s subject to change. So excluding 25 Q. And that would be PE Exhibit 3.
Page 18 Page 20
1 that last data point, that last half of 2012, 1 MS.ELLIOTT:
2 helpsto just bring a little more stahility, 2 A. Okay. Sothishappensto be collision and we
3 not a lot of stability, but some more 3 do the same for every report. So thisisour
4 stability to the estimates that we're 4 Loss Trend Report at the end of 2012--sorry,
5 providing. 5 2011. Andit'sone of the exhibits at the
6 MS. GLYNN: 6 back. And in thiswe have some trend rates
7 Q. Okay, can you describe Oliver Wyman'strend 7 that we' ve run, and we exclude--we haveten
8 model ? 8 years, six years, five, you know, different
9 MS.ELLIOTT: 9 ones. We look at loss cost, severity,
10 A. Yes, our trend model, | think it's 10 frequency in R squares and various exclusions.
11 sophisticated and flexible. We have the 11 So we run numerous models, versions of our
12 ability to include any time period that we 12 trend runs, and even more than this. So to
13 want, the number of years. We can excludeany |13 assume that we just run four models and that's
14 data points that we choose to excludes. You 14 it isamisunderstanding of what we do. And
15 know, maybe they were too high or too low a 15 in the process of our work -
16 datapoint. We can include any consideration 16 STAMP,Q.C.:
17 on the reforms, consumer price index, 17 Q. Excuseme, Mr. Chairman, can we have the page
18 unemployment rates. We've even included 18 number, please, that we' re following here?
19 models with weather, what the precipitation 19 MS. GLYNN:
20 is. Soit'sa very flexible model that we 20 Q. Oh,I'msorry. It'spage 14.
21 use, yeah. 21 MS.ELLIOTT:
22 MS. GLYNN: 22 A. Sotheissuehereisnot -
23 Q. Do yourun your modelsfor frequency and 23 MS. GLYNN:
24 severity aswell asloss cost? 24 Q. Just one second, Ms. Elliott. Do you haveit?
25 MS.ELLIOTT: 25 MS. NEWBURY:
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1 Q. I'mjusttrying to keep track of the documents 1 selection from a prior report so that we feel
2 here, okay? 2 that we're getting a stable estimate for each
3 STAMP,Q.C:: 3 six-month report that we prepare.
4 Q. That'sit. Yes, okay. Thank you. 4 MS. GLYNN:
5 MS. GLYNN: 5 Q. And that approach was the same in the 2011 and
6 Q. Youhaveit? Okay. Sorry, go ahead. 6 the 2012 report?
7 MS.ELLIOTT: 7 MS.ELLIOTT:
8 A. So what!'m tryingto express isthat we 8 A Yes
9 certainly prepare more than four trend runs 9 MS.GLYNN:
10 that you see in the written summary report, 10 Q. Okay. How do your model results compare to
11 many more, and even more than what’s presented |11 those of -
12 on a summary sheet that wasincluded asan 12 MS. ELLIOTT:
13 appendices in our 2011 report. And we 13 A. Okay, | think we've prepared an exhibit that |
14 received some feedback that--which expressed 14 think will be helpful.
15 we'd really just rather see your data at the 15 MS. GLYNN:
16 end of the report, what they do--that you used 16 Q. Andthat would be Exhibit 4, the Summary of
17 to run your models. And then when we get your |17 the R Squared Information?
18 report, we'll know what datayou used and then |18 MS. ELLIOTT:
19 we'll decide whether we agree or not. If we 19 A. Yes, yes. Okay, sofirstof all promisel
20 don’'t agree, you know, we'll let you know. So 20 will not go through each number here. That
21 in 2012 we started to change our reportsto 21 would be painful. And I think it’s-if you
22 just include the data, along sheet of data at 22 get one thing from thisisthat--and we're
23 the end of our report because we had acomment |23 trying to compare trend models. As easy tool
24 that they would find that more useful to them 24 to use, it's not alwaysright, but a common
25 to know exactly what we were putting in, 25 tool to useisthe adjusted R square. The
Page 22 Page 24
1 because any other actuary can take the data 1 higher the R square is, the--typically the
2 and run their own trend model and then decide 2 better the fit of the model, butit's not
3 if they agree or not with our findings. And 3 always--it doesn’'t always give you theright
4 they found that more useful, so we made that 4 answer, but that’skind of arough rule of
5 change inour 2012 report that we didn't 5 thumb. So you have the R square. The
6 include this because we had the comment that 6 adjusted R square makes models more comparable
7 they weren't finding that that useful. So 7 and that’ s there for you. And we' ve presented
8 that was a change. 8 thefindings. WEe ve done aten-year run as
9 MS. GLYNN: 9 we've said, ending June; aten-year run ending
10 Q. Canyouexplain thejudgmentsthat you make 10 December; and then the same thing with the
11 for your approach to your model? 11 five-year models. Welook at loss costs,
12 MS. ELLIOTT: 12 severity and frequency, and we've presented
13  A. Yes now asl mentioned there isalot of 13 this here for you. And onthe far columns
14 instability to the data. So one of the things 14 that I’ve kind of highlighted if you will for
15 that we'retrying to do isstrike abalance 15 you arethe calculated losstrend rate. We
16 between responsiveness and stability. Soin 16 have minus 3.6 percent on one of the ten-year
17 our model we takeinto consideration of what 17 models, minus 1.7 on another ten-year model; a
18 time periods we'regoing to use, what data 18 five-year model we get 1.9 and minus 0.4. So
19 that we' re going to exclude, and when we take 19 we take an average of those in our selection.
20 al thisinto account what we done and what we |20 We draw in what we selected inthe prior
21 try to doto present what we believeis a 21 review and that's how we're forming our
22 responsive and stable approach is wetake an 22 selection that we present in our Loss Trend
23 averaging approach. So we're looking at ten- 23 Report. Sowhen welook at frequency for
24 year runs and five-year runsand taking an 24 example, we'relooking at the R square, the
25 averages of that, and we'redrawingin our 25 adjusted R square. They'rein thefifties,
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1 high forties, fiftiesrange. And the average 1 points, and in the five-year model we take the
2 of our frequency trendis about minus 5.5 2 one high point and the onelow point to
3 percent, and those fits are reasonable, If 3 excludethose. So that’sthe approach that
4 al the R squares were in the ninety percent 4 we' ve taken to try to be stable from review to
5 range, we'd all be happy, and you know we'd 5 review.
6 feel comfortable that is it stable. We're 6 MS. GLYNN:
7 getting good fits, but that’s not the case 7 Q. And Mr. Doherty has stated in his examination
8 here. What you can seeisthat excluding one 8 that he does not agree with that exclusion of
9 or two different points you can get very 9 the high points and the low points on a
10 different answers. Right? Sothat’s what 10 percentage basis. Can you speak to that?
11 we'retrying to takeinto consideration. If 11 MS. ELLIOTT:
12 wejust looked at said, "What' s the best fit?" 12 A. Yes, | think what we were trying to achievein
13 and there' s the answer, minus 3.6 has got the 13 excluding the high and the low points on a
14 R square, | don't think that's the right 14 percentage basis, as we said, thelosstrend
15 answer if we'retryingto look at what the 15 rate is a percentage change from year to year.
16 losstrend ratesare and be responsive and 16 So our thinking wasthat if we excluded the
17 stable from review to review. So that’s why 17 high percentage change or the low percentage
18 we take averages, because we know just 18 change, perhapsthat would be agood way to
19 excluding one data point you can get a pretty 19 capture these extremes, you know, to take that
20 different answer. So when we compare the 20 out of the measurement that we're trying to
21 model, we've looked at this and we think it’s 21 assess, what isthe percentage change from
22 important to take away from hereis that just 22 year to year. Sowedid that, and you know,
23 excluding acouple of different data points, 23 we've presented what our calculations are, but
24 you can get avery different answer. Soit’'s 24 you know, it'savalid point. | think Mr.
25 very difficult to be confident that that one 25 Doherty was speaking to our ten-year model
Page 26 Page 28
1 answer, minus 3.6, isright or minus 1.7 is 1 ending June 2012 and maybe we could, you know,
2 right, because you know if | just excluded one 2 talk about that a little bit further. We
3 data point or two data points, | get areally 3 prepared areport and the exhibit -
4 different number. So there's a lot of 4 MS.GLYNN:
5 instability in the data, and when we compare 5 Q. Sotheexhibit that was distributed on Friday
6 the findings, you know, thisis my take-away, 6 which was PE 1 that's the Background
7 that it's not stable, you get different 7 Information.
8 answers pretty easily. 8 MS. ELLIOTT:
9 MS. GLYNN: 9 A. Okay.
10 Q. Ms. Elliott, you spoke about excluding data 10 MS. GLYNN:
11 points. Could you--so could you explain 11 Q. Andthen Ms. Elliott prepared the summary of
12 Oliver Wyman’ s treatment of outliers? 12 thiswhichisPEs.
13 MS.ELLIOTT: 13 MS.ELLIOTT:
14  A. Sure. Withoutliers, graphically with this 14  A. Okay. Sothisexhibitislooking at the loss
15 datait isso volatilethat alayman can see 15 trend rates, doing sort of two approaches, two
16 what are the high points and low points, you 16 exclusions of data points. So in our report
17 know up and down, up and down. And we aso-- |17 of our Loss Trend Report -
18 no, we look at the actual experience for all 18 MS. GLYNN:
19 the data, we look at the fitted valuesto try 19 Q. Just one second, please.
20 to see what those differences are. So 20 STAMP, Q.C.:
21 statistically we're looking at, what are the 21 Q. Theexhibitthat we're gettinginto now, is
22 extreme points? But our approach istrying to 22 this labelled PE 17
23 be both responsive and stable from review to 23 MS. GLYNN:
24 review iswe takein our ten-year model, we 24 Q. pe1isthebackground information.
25 take thetwo high points and thetwo low 25 MS. NEWBURY:
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1 Q. Okay. 1 "Geg, | excluded acoupleof different data
2 MS.GLYNN: 2 points, | take tenyears. | get another
3 Q. Andthenwe vesummarized it into a- 3 different answer." So this dataisvery, very
4 STAMP, Q.C.: 4 volatile, and the findings are uncertain. So
5 Q. Thisisthe background? 5 it's hard to take one number and say, "That’s
6 MS. GLYNN: 6 theright number. 1'vegotit." Youknow,
7 Q. Yes yes. 7 but you don’t because it changes dramatically
8 STAMP, Q.C.: 8 with different exclusions and different time
9 Q. PE1? 9 periods.
10 MS. GLYNN: 10 MS. GLYNN:
11 Q. Andwe ve summariesinto this chart. 11 Q. Soif Oliver Wyman had used the actual values
12 MS. NEWBURY: 12 to exclude the high and low points as opposed
13 Q. Andthat’sPeE1aswell? 13 to the percentage change to exclude the high
14 MS. GLYNN: 14 and low points, the impact would have been an
15 Q. That'sPES. 15 even lower trend rate?
16 MS. NEWBURY: 16 MS.ELLIOTT:
17 Q. PES. 17 A. That'scorrect, yes.
18 MS. GLYNN: 18 MS. GLYNN:
19 Q. Thank you. Go ahead, Ms. Elliott. 19 Q. Okay. And that would have resulted in alower
20 MS.ELLIOTT: 20 rate indication?
21 A. Okay. Sohereand it's another good example 21 MS. ELLIOTT:
22 of excluding a couple of different data 22 A. Right, soif you have alarger negative trend
23 points,you get another different answer. So 23 rate, then you would have your findings. Y our
24 we have one column which was--we just looked |24 rate level indication would be lower than what
25 at these numbers amoment ago, like the ten- 25 we present in our report, yes.
Page 30 Page 32
1 year trend ending June 2012, the minus 3.6 1 MS. GLYNN:
2 percent. So when we exclude data points based 2 Q. Okay. And have you always used this approach
3 on the percentage change from the prior 3 to exclude the data pointswith the highest
4 period, we had certain estimates, and so we 4 and lowest percentage change?
5 redid the work to look at to prepare this 5 MS.ELLIOTT:
6 report. What is the loss trend estimate when 6 A. No, no. Intryingto, you know, find away to
7 we exclude the highest dollar value, and the 7 address the large percentage changesthat we
8 lowest dollar value? And we have these 8 were seeing from period to period in 2012 for
9 findings. So for example, for the ten year 9 the June report, 2012 in the December report,
10 ending June 2012, we have minus 3.6 percenton |10 2012, we tried that approach. And one of the
11 excluding data pointsthat were the highest 11 difficultieswith it was understanding which
12 percentage change. And then when we exclude |12 data points we were excluding. So before that
13 the data points that are on a dollar value, 13 we hadn’t used that approach, and since that
14 the actual point is the highest over the 14 time we haven't used that approach, but no.
15 period that we're looking, we get minus 2.9 15 So it was a short time that we' d use that.
16 percent. And similarly we seefor theten 16 MS. GLYNN:
17 year ending December, minus 1.7 becomesminus |17 Q. Okay. So we're gone back to the actual
18 2.4, a little more negative. We see abig 18 values?
19 change for the five year ending June, plus 1.9 19 MS. ELLIOTT:
20 down to minus 7.6; and the five year ending 20 A. Yes
21 December, minus 0.4to minus0.8. And so 21 MS. GLYNN:
22 actually if we wereto doit that way to 22 Q. Okay. Can you explain more about the
23 exclude the highest dollar value, you actualy 23 differencein the reformed factor treatment,
24 get abigger negativetrend. And you know, 24 the difference between your approach and that
25 again if you canjust look at this and say, 25 of Mr. Doherty?

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 29 - Page 32




November 17, 2014

Multi-Page™

Page 33 Page 35
1 MS. ELLIOTT: 1 MS. GLYNN:
2 A. Okay. Inthereform in the FA model they have 2 Q. Ms Hlliott, I'd liketo bring you to Page 121
3 as part of their 20-year review of the 3 of Facilities Memorandum.
4 experience, and so it's integral to their 4 MS.ELLIOTT:
5 model that they havelooked at the reforms. 5 A. Okay.
6 So inthe second half of 2004 they have 6 MS. GLYNN:
7 estimated that the reform had avery sizable 7 Q. And we've highlighted the numbers on the
8 impact onthe claims cost, and we're not 8 screen, just for ease. It'sthe exact same
9 finding that, in our view, intuitively 9 document with just some highlightsin it.
10 reasonable. So FA--I've got my numbers here. 10 MS. ELLIOTT:
11 FA has said that for bodily injury the reform 11  A. Right. Sol havea red arrow beside 2004-2,
12 cost reduced--that the reforms in 2004 caused 12 so in August 2004, the reforms in this
13 theloss cost to reduce by 37 percent, and 13 province were implemented. So you can kind of
14 they’ve said for property damage thosereforms |14 see that, hopefully, acrosstheline, and |
15 or something in the second half of 2004 caused 15 highlighted each accident half years that you
16 the lost cost to reduce by 17 percent, and for 16 could compare--you know, starting with 1999,
17 accident benefitsthey’ ve said that the 2004 17 the second half going forward--you know, we
18 reformsor something in the second half of 18 could have done the whole column but just not
19 2004 caused AB to reduce by 73 percent, and it 19 to be so painful -
20 was a reduction down, 73 percent, and a 20 MS. GLYNN:
21 sustained reduction, not just aone-time dip, 21 Q. SoMs. HElliott, can you walk usthrough what
22 that all the cost came down by 73 percent and 22 you seein this data?
23 stayed at that level barring, you know, loss 23 MS. ELLIOTT:
24 trend, changingit over timeand wedon’'t 24 A, Sure. So starting with 1999, in the second
25 find that t be intuitively reasonable. 25 half, we see an average, and thisis the
Page 34 Page 36
1 MS. GLYNN: 1 average cost of claims for bodily injury. So
2 Q. And canyou explain why you find these to be 2 in 1999, the second half, it was $45,089 and
3 unreasonabl e? 3 then it dropped down to $38,674 and then one
4 MS.ELLIOTT: 4 year later it jJumped up to $75,498 and onward.
5 A. Well, we have--wereview the ratefilings on 5 And | calculated the percentage changes just
6 behalf of the Board and we have not seen that 6 out of my own curiosity. So starting with the
7 in other rate filings. In FA’sown rate 7 45, dropping down to 38, it goes -14 percent,
8 filing last year for taxis, they assume that 8 +95 percent, -59 percent, +44 percent, - 26
9 the reforms had no impact onthe cost. So 9 percent, +19, +5, +39, -17. So you can see it
10 thisisa complete turnabout by FA, that it 10 goesup and down a lot, it's very volatile
11 now seesthese reform savings from the 2004 11 what the average claim sizeisgoing to be,
12 reforms, or something in 2004, and you know, 12 andto me--| call that noise inthe data
13 saying--and I’'m repeating what | said earlier, 13 there'sa lot of things changing and it's
14 but saying that there’ sthis sustained drop 14 goingup and down. Sowhat FA has done,
15 from these reforms moving forward, that 15 they’velooked at the change for 2004 and
16 everything shifted down, we don’t find that to 16 they’ve seen adrop and said, oh, well, that
17 be intuitively reasonable. | can’t explain to 17 must be the reforms or something that
18 anyone why that would be the case, it doesn’t 18 happened, but you can look at the prior period
19 need--the reforms were for two hundred and 19 when it increased by 95 percent or it reduced
20 fifty--sorry, $2,500 deductible on all BI 20 by 59 percent--there’ salot of changesfrom
21 claimed and some other minor changes. | can’t 21 period to period. And sojustisolating 2004
22 think of any other event in the second half of 22 and seeing a decrease there and saying well,
23 2004 that would cause AB cost to decrease by 23 that was the reforms and | can measure that, |
24 73 percent; thereformsweren't for AB. | 24 don’t think so. | think there’ s so much noise
25 just don't find it intuitively reasonable, no. 25 in the data, up an down every year, that it's
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Page 37 Page 39
1 hard to isolate 2004 and say, oh yeah, my cost 1 small claims one year and maybe some bigger
2 for AB decreased by 73 percent. That'sjust 2 claimsthe next year that are causing this
3 somenoise in thedata. So | don't have 3 change. So we'renot trying to measure how
4 comfort that the reform factorsthat FA has 4 many big claims you have one year, maybe not
5 presented are intuitively reasonable, and 5 the next year. We'retrying to measure the
6 there are not many claims. Each accident half 6 changein cost from year toyear. Sowith
7 year has about 50 to 70 claims with about 120 7 thisnoise in the data, it’'s very difficult to
8 ayear. There'snot very much data, and it’s 8 measure, very difficult. So | think that
9 going up and down, up and down. So trying to, 9 explains why we see these jumps, this mix of
10 you know, isolate here and present reform 10 small and large claimsfrom year to year,
11 factors of these magnitude, I’'m not certain 11 yeah.
12 that it’sreally measuring it correctly, and | 12 MS. GLYNN:
13 think it's perhaps aflaw in the FA regression 13 Q. WEe€Ill move ina littlebit of a different
14 model. 14 direction now. Can you explain the
15 MS. GLYNN: 15 differences in your approach and Mr.
16 Q. Ms. Elliott, canyou tell uswhy the average 16 Doherty’s, relating to the claims handling
17 claim size would change so much from year to 17 costs?
18 year? 18 MS.ELLIOTT:
19 MS. ELLIOTT: 19 A. Okay. In theFa filing, the data that they
20 A. Yes, and one of the things we want to remember |20 have or that they’re using to calculate their
21 when we're looking at the severity of these 21 loss trend rates do not include loss
22 average claim costs, we're trying to measure 22 adjustment expenses, and inour anaysis of
23 what’ s the percentage change in cost from year 23 loss trend rateswe do include the loss
24 to year? Soif everybody had a whiplash 24 adjustment expenses. And so if the change in
25 injury and you wanted to look at the costsin 25 the loss adjustment expenses, the cost to
Page 38 Page 40
1 1999 and 2000 and--once the changein that 1 handle and to settle the claims, that changed
2 whiplash injury, you know, and it might be two 2 from year to year, it's not too different in
3 or three percent ayear, the cost going up 3 the percentage change in costs of the
4 with--surrounding, if you will--close to 4 indemnity, including or excluding, you won't
5 inflation or the various heads of damage for a 5 get two different--aloss trend rate. And we
6 bodily injury claim, but what happens--we only 6 did sometesting to see if therewas any
7 have about 120 claims ayear and so one year 7 difference between calculating aloss trend
8 you could have maybe pretty minor claims and 8 rate with or without it and we're finding that
9 the next year you could have somebody that is 9 the differenceiskind of immaterial.
10 aparaplegic, and the next year there could be 10 MS. GLYNN:
11 adifferent mix of claims. So you could have 11 Q. Okay. Did Facility include claims handing
12 small claims one year, maybe areal big claim 12 costsin itsprior filing to determine its
13 the next year, maybelotsof big claimsthe 13 loss trend rates?
14 next year. Y ou have asmall group of claims, 14 MS. ELLIOTT:
15 and that mix of small claims and large claims 15 A. Yes. That was another difference in--between
16 changes from period to period, and there’s so 16 their judgements last year and thisyear. In
17 few of them, that this iswhat we're seeing, 17 last year's filing, they did include the
18 these jJumps in the severity. So when we look 18 claims handling cost when they calculated
19 at--1 mean, it'sareally good example going 19 their loss trend rate, but inthis year's
20 from $38,000 to $75,000; what would be causing |20 filing, they do not.
21 that? | think--you know, I'm not positive 21 MS.GLYNN:
22 because we don’'t have any information that 22 Q. Okay. Inyour report, Ms. Elliott, we noted
23 tells us the types of claimsin this data, we 23 that there was some difference in the choice
24 just know roughly how many claimsthere are. 24 of the loss devel opment factors between Oliver
25 Itislikely that there’'sachanging mix of 25 Wyman and Facility. Could you bring us
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1 through bodily injury asan example and tell 1 2012-2, there at the bottom? Okay. So here
2 us how the differencesin the choice of the 2 we see, so thisis for losses and loss

3 loss devel opment factors affect the loss trend 3 adjustment expenses--allocated |oss adjustment
4 rates that you calculated? 4 expenses for 2012-2, the very bottom, second
5 MS.ELLIOTT: 5 column in, GISA has estimated the costs

6 A. Okay. Well, let mejust say, first of all, | 6 including these allocated loss adjustment

7 know it gets confusing between loss 7 expenses, at 3499, so $350 per vehicle. Okay,
8 development factors and trend factors, how 8 so that’ s GIsA’s estimate including ALAE, and
9 they al fit together. So loss development 9 now I'd liketo goto FA’sexhibit, and |
10 factors, we apply that to the losses that are 10 think it's127 in my notes? Okay. Soit's
11 reported today to say what will they 11 the same time period here, this column--maybe
12 ultimately be when claims are all settled, and 12 we could go to the top for amoment just to
13 then we takethose costs, what we think 13 get our bearings.

14 they’ll ultimately be, and put them into the 14 MS. GLYNN:

15 trend model. So the higher those costs are 15 Q. Yeah

16 that you estimate with your loss development 16 MS. ELLIOTT:

17 factor, all else being equal, you're going to 17 A. Sothisisbodily injury and the second column
18 get ahigher losstrend rate. So that’s kind 18 in from the -

19 of the connection with loss development 19 MS. GLYNN:
20 factors. If wethink they’re too high, you're 20 Q. Ms. Elliott, we have Page 118, but that isthe
21 likely getting too high aloss trend rate. So 21 correct reference? We're on the right page
22 that’ sthe first part, and | think bodily 22 here?
23 injury isagood example we could look at so 23 MS. ELLIOTT:
24 we can see alittle view, aglimpse, of loss 24 A. Yes. That'sfine, that’sfine.
25 development factors. And there’'s some 25 MS. GLYNN:

Page 42 Page 44

1 information | wanted to provide, it's an 1 Q. Okay.

2 exhibit--1 apologize, | don’t know the number- 2 MS.ELLIOTT:

3 -that’s prepared by GisA, the Generd 3 A. So thisis bodily injury Newfoundland and
4 Insurance Statistical Agency, of their 4 Labrador, again thisis the commercial data,

5 estimate. 5 and the actual costs that FA has estimated for

6 MS. GLYNN: 6 each period, and if we scroll down to see the
7 Q. Itwould be Number 6 in the package provided 7 comparable number--and again, thisisjust the
8 to - 8 |osses, it does not include the allocated 1oss

9 MS.ELLIOTT: 9 adjustment expenses. Again, coincidentally,
10 A. Okay. Sothisdatais--we'll hold right there 10 they have $349.99. It's quite coincidental

11 for asecond. Thisisan exhibit produced by 11 that they’ re exact, but the GIsa dataincludes
12 GIsA, it is for Newfoundland/Labrador, 12 allocated | oss adjustment expenses and the FA
13 commercial auto and it’sbodily injury. So 13 data excludesit. So herewe see that FA's

14 it's- 14 number is 350 without the allocated loss
15 STAMP, Q.C.: 15 adjustment expenses, and GIsa’sdata is 350
16 Q. Excuse me, miss, we don't have that document. 16 with it. So you know, that isrelated to the

17 We have--okay, I'm sorry. We'll get it. 17 loss devel opment factors that are selected by
18 Thank you. 18 FA.

19 MS.ELLIOTT: 19 MS. GLYNN:

20 A. Okay. So GIsA providesto the industry its 20 Q. Andwhat does this higher estimate on the loss
21 estimate of what the ultimate costs are going 21 development factor mean for Facility’s loss
22 to be for each of the accident half year for 22 trend?

23 commercial automobile herein Newfoundland, |23 MS.ELLIOTT:

24 and they do thisfor each province. Soif we 24 A. All else being equal, having this higher

25 could scroll down to the accident half year 25 number of the 350 would lead to a higher loss
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Page 45 Page 47
1 trend rate. 1 of data?
2 MS. GLYNN: 2 MS. GLYNN:
3 Q. Okay, and can youtell us how much higher the 3 Q. It'sPage127.
4 loss and the ALAE per vehicle would be? 4 MS.ELLIOTT:
5 MS.ELLIOTT: 5 . I think inthe GIsA exhibit--there we are,
6 A. Itranges, and of course, theactua costs 6 yeah. Okay, al right. Sowhat we have on
7 would vary from year to year, but for bodily 7 thetop part of our screen are the factors
8 injury, it's easily between 8 to 10 percent of 8 that are selected by FA using--and they’ve
9 the cogt, so if you want to exclude allocated 9 presented their data with loss experience
10 loss adjustment expenses, you take 8to 10 10 only, they exclude ALAE, and on the bottom
11 percent off. 11 part of our screen here we see GISA’s selected
12 MS. GLYNN: 12 factors and various averages, but the box are
13 Q. Soif FA excludes ALAE and GISA includesALAE, |13 the selections made by GIsA, and they’re using
14 can you explain why both numbers are 3507 14 aweighted average of al periods. And when
15 MS. ELLIOTT: 15 you compare the factors that GIsA has
16 A. Okay. | can,and that's a little more 16 selected, 1.134, and then you compare the
17 complicated, so we'regoing to takeyou to 17 factors that FA has selected, and you go
18 some exhibits to show why that’s occurring. 18 through-- mean, barring that there was
19 Okay, | believe we have an exhibit which shows |19 rounding, the GIsa presents three decimal
20 the bodily injury loss development factors 20 places, but if you, you know, work through
21 that are selected by FA, and those that are 21 that, you'll seethat they appear to be
22 selected by GIsA. 22 identical. It appearsthat FA took the Gisa
23 MS. GLYNN: 23 factorsfor each of these periodsfrom 12 to
24 Q. So canyou bring usto the pagein FA's 24 18 asthey go across here that are based on
25 Memorandum, please? 25 losses and ALAE and use those. So rather than
Page 46 Page 48
1 MS.ELLIOTT: 1 taking, which they present, the weighted
2 A. Sothis, | believe, isFA'sreport and thisis 2 average of all periods, FA presents that
3 for bodily injury, and it's showing for each 3 number--so for example, in the 12 to 18 period
4 six-month incremental period from 6 to 12 and 4 the number is1.1274, it'skind of in the
5 12 to 18, theseare the factorsthat are 5 middle of all that, but they didn’t select
6 selected. So the row that says fina 6 that. They picked up GIsA’s, based on 1.134.
7 selection and then the product row is the 7 So it would appear that FA used GISA'S
8 multiplication of al those factors. So each 8 factors, which are based on losses and ALAE--
9 factor that FA has selected is under the final 9 that was not stated in the filing, and they
10 selection, and what’s interesting if, for 10 presented the experience based on losses only,
11 example, you look at 12 to 18, they've 11 chose not to usethem but, it appears, used
12 selected 1.1340, but whenyou look at the 12 the GIsa factors, and that would be the case
13 averages that they have presented as 13 for al the periods except for the6 to 12
14 aternatives that they're going to select 14 period. GIsA’s factor inthebox is1.322,
15 from, they don’t match up and you can go 15 their factor reflects seasonality, and in the
16 across each column and say, well, they're 16 case of FA, they’ve selected 1.663, whichis
17 close, but they don’t match up. And now if we 17 different--this is the only column that
18 could pull up Gisa’s selected factors, and I'd 18 appearsto be different than Gisa, and asa
19 like to see that lined up. 19 result they have higher loss development
20 MS. GLYNN: 20 factors. So | hope that explains some of the
21 Q. That'sback to Exhibit 6. 21 selection that has been made by FA and these
22 MS. ELLIOTT: 22 higher |oss development factors can contribute
23 A. Okay. Thank you. 23 to higher loss trend rates and it can explain
24 STAMP,Q.C.: 24 part of the differences between the factors
25 Q. What page are we looking at in thefirst piece 25 that we're determining--loss trend rate
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1 factors that we' re determining and those that 1 misstatement. Well, they stated what they
2 FA are determining. 2 understood, but that's not a correct
3 MS. GLYNN: 3 understanding, yeah.
4 Q. Andthedifferencesin your loss development 4 MS. GLYNN:
5 factors, are they material to the findings? 5 Q. Sodoyou agree that there was achange in the
6 MS.ELLIOTT: 6 bodily injury frequency trend?
7 A. Yes. They canbe. | mean, we had a 7 MS. ELLIOTT:
8 discussion at the prior--in our report, we 8 A. No. Wedon't agree, and what we were trying
9 raised there were differences with accident 9 to express--we made atypo in a question that
10 benefits, and although accident benefitsis a 10 we presented to FA, and what we were trying to
11 small coverage, there are some larger 11 ask FAwas that we were seeing in other
12 differencesthere. Andin this case here, | 12 provincesthat there wasa declinein the
13 believe that these larger factors that FA is 13 frequency rate that started in around
14 selecting, that are generally larger than if 14 2000/2001, and we were seeing this in other
15 they had usedtheir own experience, it's 15 provinces, so the purpose of the question was
16 leading to higher loss development factors 16 to ask FA were they seeing adecline in the
17 that are leading to higher loss trend rates 17 frequency rate starting in that 2000 period,
18 and a higher rate indication, yeah. 18 and instead of typing 2000, we typed 2004 and
19 MS. GLYNN: 19 of course, you know, rightly so, FA didn’t
20 Q. Ms. Elliott, can you explain the time period 20 understand our question.
21 used by Facility and how that is different 21 MS. GLYNN:
22 from the time periods that Oliver Wyman used? |22 Q. Facility has also stated that itsfits are
23 MS. ELLIOTT: 23 superior to Oliver Wyman's, can you comment on
24 A. Yes. So Facility, we'veused 20 years of 24 that?
25 experience, and in their approach they select 25 MS.ELLIOTT:
Page 50 Page 52
1 aregression--they choose to include areform 1 A. Wadll, | don't accept the description that any
2 parameter in their model for the August 2004 2 of the fits with this commercial data are
3 changes, and then asaresult of that, they 3 superior, great, good--any word, adjective
4 are effectively splitting their time period of 4 you'd like to use. The datais very difficult
5 the 20 years between--prior tothis August 5 to work with. Interms of the frequency fit,
6 2004 and after, so effectively, they have an 6 | think ours R square and FA'SR square,
7 eight-and-a-half year period of what they’re 7 they'rereally--1 can’t see that their fit is
8 using to select their losstrend rate, and 8 any better, we're looking at a frequency trend
9 because they split this 20-year period by 9 rate running from -5 to -6 percent range, and
10 these August 2004 reforms, it effectively 10 in terms of the severity that FA has presented
11 forces FA into--now they just have eight-and- 11 and describing that as superior, | wouldn’t
12 a-half years from the August--from the second 12 agree. We looked at how the claims changed
13 half of 2004 to the end of 2012, they have a 13 from $75,000 to $35,000, these average costs,
14 shorter period of time now to use this eight- 14 very difficult to fit, and FA has stated in
15 and-a-half years. In our work, Oliver Wyman, 15 response to our questions that they struggled
16 we select 10 yearsof experienceand five 16 with the fit, that the P-Tests were poor--the
17 years of experience in making our selections, 17 T-Tests were poor for some of the parameters
18 yeah. 18 intheir model. Infact, inthe prior review
19 MS. GLYNN: 19 from FA, it found that they couldn’t determine
20 Q. InMr. Doherty’ stestimony, he stated that he 20 what the fit was, they couldn’t use the data.
21 thought Oliver Wyman agreed that therewasa |21 So describing any of these trend models as
22 changein the bodily injury frequency trend 22 superior | don't think isarealy appropriate
23 beginning in 2004. Isthat correct? 23 description. There’'salot of uncertainty in
24 MS.ELLIOTT: 24 theloss trend rates.
25 A. No. That isnot correct. That was a 25 MS. GLYNN:
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Page 53 Page 55
1 Q. Okay, and these loss devel opment factors that 1 periods are different for the different
2 we just discussed that were higher in 2 coveragesin last year's review. A second
3 Facility’ sthan Oliver Wyman's, how do they 3 issueisthat in last year’ s review, FA found
4 come into play in this superior fit 4 that the reform factor for the 2004 reforms
5 discussion? 5 had no impact on claim costs; this year they
6 MS.ELLIOTT: 6 have determined that they do have avery large
7 A, Wdll, if we'retaking into question that 7 impact. Another itemis that in last year's
8 underlying data that’ s used to cal cul ate these 8 review, for bodily injury severity and for
9 losstrend rates, soif we'retaking into 9 accident benefits, FA found that it couldn’t
10 question those loss devel opment factors, then 10 figure out aloss trend rate and so choseto
11 it's pretty hard to have a discussion about a 11 use a private passenger experience for
12 superior fit if you're questioning the data 12 accident benefits, for both frequency and
13 that’sused inthe model to calculate this 13 severity, and in the case of bodily injury, it
14 superior fit, so. 14 chose to use a private passenger for severity.
15 MS. GLYNN: 15 And then there's one final difference--is that
16 Q. Areyoutryingto pick alosstrend model that 16 for uninsured auto last year FA used the
17 has the best R squared? 17 third-party liability selection, and in this
18 MS. ELLIOTT: 18 year's filing, they’vechosen to use the
19 A. No, and| think that’s important to reiterate 19 accident benefits selection.
20 here. What we'relooking for isto strike a 20 MS. GLYNN:
21 balance between responsivenessto thedataand |21 Q. Sothat’sthe differencesin how they chose
22 stability for each review that we prepare-- 22 their trend rates. Can you summarize the
23 each losstrend review that we prepare each 23 differencesin the value of thoselosstrend
24 six months. So we're not trying to look at it 24 rates?
25 and say, okay, I’vegot thebest R sguare, 25 MS.ELLIOTT:

Page 54 Page 56
1 thismodel is anR sguareof 45and it's 1 A Yes So lastyear, they were calculating a
2 better than my other R square of 42, sol'm 2 past trend rate of 2.4 for BI, a future of
3 going to pick it, or whatever the number is. 3 4.0, andjust asa reminder welooked at
4 We're not attempting to do that here because 4 earlier, thelost cost from 2011 to 2012
5 the--with different time periods, different 5 decreased by 17 percent--we talked about that
6 exclusions, the results change dramatically. 6 earlier. So even though we have a decreasein
7 So what we're trying to do is have a 7 the loss trend rates, FA has now presented in
8 responsive and stable approach, and strike a 8 this filing a higher trend rate of +4.4.
9 balance of that, and that’s why we have an 9 Property damage last year was 3.8 for the
10 averaging approach, yeah. 10 past, 1.9 for thefuture. Their new trend
11 MS. GLYNN: 11 rateis 2.4 percent and in fact, the lost cost
12 Q. I'd liketo bring up Exhibit4 from the 12 from 2011 to 2012 decreased by about 12
13 Actuariadl  Memorandum. It's actually 13 percent. And for accident benefits, last year
14 Information Item No. 5. From last year's 14 they had 1.6 percent for a past rate and then
15 filing, sorry. Thank you. And Ms. Elliott, 15 they had 4.2 for afuture rate, and this year
16 can you bring usthrough the differencesin 16 they have +7.6 and the lost cost this year for
17 FA's selected loss trends from this year and 17 this coverage also decreased for commercial
18 last year? 18 auto by seven percent.
19 MS.ELLIOTT: 19 MS. GLYNN:
20 A. Okay. All right, sothe--I guess there'sa 20 Q. Can you explain how Facility's rate
21 couple of differences in--from the prior 21 indications would change if they had followed
22 review and thisreview. Firstis thetime 22 the Board's guideline, loss trend rates
23 periodsthat are used. There are different 23 developed by Oliver Wyman?
24 time periods used in last year's review 24 MS. ELLIOTT:
25 compared to thisyear’ sreview, and thetime 25 A. Yes. It'spresented in our report. It would
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Page 57 Page 59
1 decrease by approximately 27 percentage 1 increase, so inour view therewas no rate
2 points. 2 inadequacy. The 50 percent change that was
3 MS.GLYNN: 3 approved was supported and there would be no
4 Q. Thank you. Going to changegears here now, 4 rate inadequacy, but in this ratefiling, FA
5 and we're going to move into the credibility 5 has come forth and said we have a rate
6 standard, and thiswas identified as an issue 6 inadequacy from our prior work, and we don't
7 in your report. Can you explain why the 7 agree with that assumption that FA is putting
8 change in the number used for the credibility 8 forth that their rates are inadequate.
9 standard is an issue? 9 MS. GLYNN:
10 MS. ELLIOTT: 10 Q. Andwhat impact doesthis change have on the
11 A. Asl think--some of our introductory comments |11 rate indications?
12 that I’d made, one of the things that we're 12 MS. ELLIOTT:
13 looking for is consistency in the prior report 13 A. Soif we make the assumption that the prior
14 and the current filing, and in this filing FA 14 rates, with the ratelevel that the Board
15 has changed its full credibility standard, so 15 approved, that the rates were adequate, the
16 how many claims you need to say that your data |16 indication was +50, the Board approved +50--if
17 isfully credible and reliable, and in this 17 we, you know, assume that’ s correct, then that
18 filing FA has lowered that number. So they’ve 18 change, making that assumption, that would
19 lowered it, which gives more weight to its own 19 reduce the rate level indication that FA has
20 experiencefor taxis, and as aresult, it 20 presented by about 24 percentage points.
21 increases their rate indication. But the 21 MS.GLYNN:
22 issueis, for us, isthat there’'sachangein 22 Q. Okay. I'dlike to bring up Page 20 of your
23 the filing without any support for the change 23 report, Ms. Elliott, and can you summarize--
24 inthat standard, so that wasraised asan 24 here you talk about uncertainty, and I'd like
25 issuein our report. 25 you to summarize those issues of uncertainty
Page 58 Page 60
1 MS. GLYNN: 1 for us.
2 Q. And what impact does the change in the 2 MS.ELLIOTT:
3 credibility standards have on the rate 3 A. Sol guessthefirst issue that’simportant to
4 indications? 4 remember if that we're dealing with very
5 MS.ELLIOTT: 5 limited data. We're dealing with taxi data,
6 A. It'sestimated about--that change caused a 6 very small volume, and it’ s volatile, so that
7 seven percentage difference in the rate 7 adds considerable uncertainty to the
8 indication. Soif they’d used the standards 8 calculated rate indications, and there are
9 from last year, it would be about seven 9 some other factors that--when you determine
10 percentage points lower, the rate indication. 10 what the rate indications are, that we also
11 MS. GLYNN: 11 have to think about the uncertainty of those
12 Q. Okay. Complement of credibility was also 12 factors, and one is--the loss development
13 identified anissue. So canyou detail the 13 factor, is that FA applies toits own taxi
14 differencein the complement of credibility 14 experience, their base--so FA isincluding the
15 applied by yourself and by Facility? 15 last five years of experience in determining
16 MS.ELLIOTT: 16 itsrateindications, so from 2008 to 2012,
17 A. Okay. Now wedon't have any objectionwith |17 the taxi losses, and it has to estimate what
18 the methodology that FA isusing for the 18 those costs will ultimately be with these loss
19 complement of credibility approach. Our issue 19 devel opment factors. But the loss devel opment
20 isthat FA isassuming that their current 20 factorsthat it uses to apply to the taxi
21 rates are inadequate. So in the prior filing, 21 experience, it'sbased on its non-private
22 we had done our analysis and we estimated the 22 passenger experience, and this is calculated
23 rateindication for FA could support a +50 23 for--1 think we can go to thenext page,
24 percent change. FA proposed a+50 percent 24 please, thisis calculated separately for
25 increase, and the Board approved a+50 percent |25 bodily injury and property damage using that
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1 non-PPv experience, but then in applying it, 1 So the third column, then, we have the

2 FA hasto combine the bodily injury and the 2 accident year, we' ve got the claimsthat are

3 property damage together, which formsthird- 3 reported at the end of 2012 that was provided

4 party liability, TPL, and so some assumptions 4 in last year’ s report, and what they estimated

5 have to be made, how you weight that BI and PD 5 the ultimate cost would be. Solet’slook at

6 using the non-PPv now to apply to taxi 6 the middle row, 2009. Attheend of 2012--

7 experience. So the bottom lineis you're 7 sorry, June 2012, in last year’ sfiling they

8 applying loss development factors based on 8 had that data, they estimated the cost at $2.6

9 non-pPpv datato taxis and haveto make some 9 million. Oneyear later in thisfiling, going
10 assumptions on applying that, how you weight 10 acrossthat row, their estimate of what the
11 it together, it's a different experience. So 11 ultimate cost would beis $2.3 million, and
12 this adsto the uncertainty of the findings. 12 that difference in red on the right is
13 Another item isthe clam count development 13 $304,000. That's a12 percent decline. So
14 factors. Thefactorsthat are used by FA are 14 al those red numbers mean, in the far column,
15 theindustry factors, they’re not based on 15 that the costs that they estimated this year,
16 FA’Sown taxi experience--and again, that’s 16 oneyear later, for taxisisless than what
17 just due to the limited data, it addsto the 17 they estimated last year. And this again adds
18 uncertainty of the findings. And another item 18 to the uncertainty of the finding, the changes
19 isthelosstrend rates, and even if you were 19 that we have from year toyear. It'svery
20 to accept thelosstrend ratesthat FA has 20 hard to estimate what those costs are, it adds
21 calculated, and if we thought they were right, 21 tothe uncertainty. So it'sjust another
22 we're taking loss trend rates based on 22 example.
23 commercial data and applying it to taxi data; 23 MS. GLYNN:
24 that adds to uncertainty. And on top of that, 24 Q. Ms. Elliott, isthere anything else that you
25 from these commercial loss trend rates, we 25 would like to cover?

Page 62 Page 64

1 have bodily injury and we have property 1 MS.ELLIOTT:

2 damage, and haveto combinethat together, 2 A. Let melook at my notes here, seeif | missed

3 weight that together to apply in the TPL 3 anything from. | think what we have hereisa

4 because we only have TPL taxi experience. So 4 filing that’s presented with a 50 percent rate

5 even if you accept FA’s commercial losstrend 5 increase, and the FA's taxi experience has

6 rates, we're applying it to taxi data, 6 been poor, but we've just, last year,

7 uncertainty, and we have to combine the Bl and 7 reviewed--the Board--and we reviewed the

8 PD into TPL to apply it because you only have 8 filing and the Board approved a50 percent

9 taxi as TPL--more uncertainty. 9 rateincrease for taxi experience. So we
10 MS. GLYNN: 10 thought that the poor experience was addressed
11 Q. Ms. Elliott, I’d asolike to bring up the 11 with that large rate increase last year. So
12 responseto Question 3 from Facility dated 12 now we have FA presenting another rate filing
13 April Sth. 13 with a proposed increase north of 50 percent
14 MS. ELLIOTT: 14 and the suggestion that they will be comingin
15 A. Okay. 15 for additional rate increases next year again.
16 MS. GLYNN: 16 And so | think the--you know, the key concern
17 Q. Andl wonder if you canexplain the charts 17 is what can be done to curb these costs,
18 that we see here? 18 contain these rate increases? Because they’ re
19 MS. ELLIOTT: 19 not sustainable. And so | would say that it's
20 A. Sure. Sointhisquestion, we're asking FA to 20 important for al partiesto look at what can
21 present what weretheir estimatesfor taxi 21 be done to contain the rate increases that are
22 experience, what the costs will ultimately be 22 being proposed, and our focus has been on loss
23 from the prior filing to thisfiling, so the 23 trend rates and thelosses, but there are
24 top matrix isthe TPL coverage and the bottom 24 other components to the whole premium that’s
25 oneisAB. Well, wecan just focus on TPL. 25 being charged. And | would suggest that it
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1 would be very helpful if FA took the 1 the questions to--for you this morning. 1'm

2 initiative to look at the costs for 2 going to first start with the general

3 underwriting, look at the costsfor claims 3 questions, probably more of an overview on the

4 handling, look at the costs for commission-- 4 trend selection process, and | wonder if you

5 look at those costs and say how can | find a 5 can state what your goal or objective isin

6 way to bring down this premium? And the FA, 6 the trend selection process that you have

7 initsrole, could take theinitiative to find 7 chosen?

8 ways other than one big rate change, you know, 8 MS.ELLIOTT:

9 last year, asking for another one thisyear 9 A. Ourgod init?
10 and suggesting that they’re coming back next 10 MS. NEWBURY:
1 year. | think it’s not sustainable, the rate 11 Q. Yes
12 increases that are proposed here, so somebody 12 MS. ELLIOTT:
13 hasto sit down and think about what other 13 A. Wdl, we're preparing our reports, our review,
14 ways can--what else can bedoneto contain 14 for the Board, these are Board guidelines, and
15 these costs, and it cannot be just one big 15 these are loss trend rates that are provided
16 rate increase after another, so. 16 for insurersto useif they so choose to, and
17 MS. GLYNN: 17 we're trying to provide loss trend rates that
18 Q. Ms. Elliott, we have covered out material much 18 are both responsiveto thedataand stable
19 quicker than we had estimated. Sowe are 19 from review to review that we prepare.
20 actually ready to turn you over to Mr. Stamp. 20 MS.NEWBURY:
21 MS.ELLIOTT: 21 Q. Andtheactua model that you ve chosen, the
22 A. Okay. 22 trend selection process that you use, isthis
23 MS. GLYNN: 23 your own as opposed to process described--
24 Q. Wehad discussed taking abreak at 11:00, so | 24 prescribed by the Board or anyone else?
25 think the timing worked out pretty good. 25 MS.ELLIOTT:

Page 66 Page 68

1 CHAIRMAN: 1 A. That'scorrect. The Board does not prescribe

2 Q. Sowell adjourn until 11:25, isthat correct? 2 the process, yeah.

3 MS.GLYNN: 3 MS.NEWBURY:

4 Q. Doesthat work? 4 Q. Okay, and there were no directions or

5 CHAIRMAN: 5 guidelines interms of thedetail or the

6 Q. That agreed? 6 content of that process?

7 STAMP,Q.C:: 7 MS.ELLIOTT:

8 Q. That'sfine. 8 A. That'scorrect.

9 MS. GLYNN: 9 MS. NEWBURY:
10 Q. Yes. Thank you. 10 Q. And now | understand that you have done
11 CHAIRMAN: 11 similar things for other jurisdictions such as
12 Q. Okay. 12 the Nova Scotia Board. Isthe trend selection
13 (RECESS) 13 process that you use in your trend reports for
14 CHAIRMAN: 14 Nova Scotia also something that you' ve derived
15 Q. Sol believeit'sover to you, Mr. Stamp, if | 15 on your own?
16 - 16 MS.ELLIOTT:
17 STAMP, Q.C.: 17 A. Yes. We'renot given any direction from the
18 Q. That's right. We're taking our cross- 18 Nova Scotia Board in that process.
19 examination first. 19 MS. NEWBURY:
20 CHAIRMAN: 20 Q. Okay. I'mgoingto refer to Page 11 of your
21 Q. Yes. 21 report, the May 16th, 2004 report, and in that
22 MS.PAULA ELLIOTT, CROSS-EXAMINATION BY MS. JENNIFER |22 report you state that "Oliver Wyman's selected
23 NEWBURY 23 loss trend rates are based on various
24 MS.NEWBURY: 24 regression analysis over different periods of
25 Q. Thank you. Hi, Ms. Elliott. I will be asking 25 time spanning ten years or less, with data
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1 exclusion and use of parameters that we find 1 commercia dataisdueto itsvolatility and
2 reasonable,” and | understand from your 2 uncertainty, we're trying to be both--strike a
3 evidence and from your report generally that 3 balance between the responsivenessand the
4 you are using only ten years, is that correct? 4 stability to our findings. So in this
5 MS. ELLIOTT: 5 particular circumstance, we're choosing to
6 A. Thelosstrend ratesthat we present in our 6 look at ten years.
7 report asusing ten yearsand five years of 7 MS.NEWBURY:
8 experience. 8 Q. Okay, and was there anything about the
9 MS. NEWBURY: 9 particular analysisitself that confirmed that
10 Q. Andfiveyears. 10 you would keep the ten-year approach for this
11 MS.ELLIOTT: 11 particular review?
12 A. Butwithinthe datathat we look at, we have 12 MS. ELLIOTT:
13 15 years of experience. 13 A. Notthatl recal, that there was something
14 MS. NEWBURY: 14 specific, no.
15 Q. Okay. Soyoulook at 15 years of experience 15 MS. NEWBURY:
16 for data, but the loss trend rates are based 16 Q. Okay. Sobasically this choice of ten years
17 on ten years and five years? 17 was basically a pre-determined choice because
18 MS.ELLIOTT: 18 you've used this in previousreviews, you
19 A. That'scorrect. 19 wanted to stick with that approach?
20 MS. NEWBURY: 20 MS.ELLIOTT:
21 Q. Okay, and what would be the problem with using 21 A. What weliketodo, asl| said, iswelook at
22 something greater than ten years for the trend 22 al thedata, al the experience, the 15
23 rate analysis? 23 years, and one of the thingsthat | find quite
24 MS.ELLIOTT: 24 interesting isto slice it off to look at the
25 A. I don't know if you'd call it aproblem, it's- 25 first fiveyears, the middlefive yearsand
Page 70 Page 72
1 -we' ve taken an approach here to look at ten 1 the most recent five years, and see what those
2 years or less, yeah. 2 findings are. And also, you know, looking at
3 MS.NEWBURY: 3 the ten years of experience and the five years
4 Q. Okay. Soif you had chosen, say, 12 years or 4 of experience, we'retryingto seearethere
5 15 years, would that bean equally valid 5 patterns that are changing, and we're
6 approach? 6 reviewing the experienceto see, totry to
7 MS.ELLIOTT: 7 measure, what are the patterns, what are the
8 A. | think the issuewhen you choosea time 8 changesgoing on. And if there is something
9 period, you want to be consistentin that 9 that we found wherewe felt the data was
10 review for that particular set of datathat 10 credible enough and it was telling us
11 you're reviewing, from review to review. 11 something, that perhapsten yearswaswrong,
12 MS. NEWBURY: 12 perhaps we should only be looking at five
13 Q. Okay. Soif you had decided, for example, a 13 years, then we would take that into
14 number of years ago, I’'m going to choose ten 14 consideration and we would explain our
15 years, you' re saying that you should use that 15 rationale for the changes. So in this
16 each and every year afterward? 16 circumstance, we're starting off with ten
17 MS.ELLIOTT: 17 yearsand fiveyearsin our review, and if
18 A. No. | think that’s maybe arigid statement, to 18 evidence wasto present itself that, you know,
19 say that we would never consider anything 19 we thought, gee, we should do something
20 else. Wedo, we have 15 years of data, and | 20 different, then we certainly would consider
21 definitely will run the button looking at all 21 that. And we also present our report to the
22 15 years and many other ways, and sometimes| |22 insurersfor their comment, and if we had
23 just look at thetop five, the middlefive, 23 comments in from the insurers that said hey,
24 the bottom five. We run many looks at it, but 24 wait aminute, we think you should be doing
25 one of the thingsthat we have in this 25 this, then we would look at that and consider
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1 that, but we haven't received that. 1 you did, how many outliersdid you exclude,
2 MS.NEWBURY: 2 how many data points did you exclude?
3 Q. Soafew questionsarising out of that, Ms. 3 MS.ELLIOTT:
4 Elliott. First of al, you ve mentioned that 4 A. | can’trecal that.
5 you use 15 years of data, why not use 20? | 5 MS. NEWBURY:
6 understand that there would be 20 years of 6 Q. Okay. Haveyou done any--selected trend rates
7 data available to you. 7 that arebased on other than tenor five
8 MS.ELLIOTT: 8 years?
9 A. Youcouldgo back farther than 20. | mean, 9 MS.ELLIOTT:
10 you can get easily 25 years fromthe Gisa 10 A. Insomecircumstances. Are you referring to
11 portal. It'sour choiceto look at the last 11 commercia auto here in Newfoundland?
12 15years. We don't think that going back 12 MS. NEWBURY:
13 from--1 think that would be 1993 to 1998, that 13 Q. Just generally speaking. I'm trying to ask,
14 that is really relevant today when we're 14 now, general gquestions about your approach and
15 trying to set rates that will bein effect in 15 the choices that you've made, and you've
16 2015. 16 indicated that you generally pick a consistent
17 MS. NEWBURY: 17 approach. I’'m wondering if, in other
18 Q. Andyou mentioned that you--when you look at |18 jurisdictions, you’'ve provided reports and
19 the 15 yearsof data, you segment it, the 19 produced reports based on atrend analysis
20 earliest five years, the middle five years and 20 other than for ten years and five years.
21 the most recent five years. Have you actually 21 MS. ELLIOTT:
22 done an analysis of a 15-year trend rate? 22 A. Yes. Definitely different coveragesthat are-
23 MS. ELLIOTT: 23 -say like collision coverage, we would
24 A. Yes. We can easily--our model is very 24 typically use fewer years, definitely, there.
25 flexible, it’s very sophisticated. We can do 25 Yeah. For avariety of reasons or externa
Page 74 Page 76
1 an analysis of 15 years, 12 years, 13 years, 7 1 forces, sometimes data. There could be
2 years. Any number, we do it. 2 changes that have gone on in a certain
3 MS.NEWBURY: 3 province. So yes, we would definitely
4 Q. Right. I understand from your evidence this 4 consider the environment when we're running
5 morning that you do, indeed, have aflexible 5 our analysis, yeah.
6 model, but did you actually do the 15-year 6 MS. NEWBURY:
7 trend analysisin this case? 7 Q. Okay, and haveyou ever done thisfor the
8 MS.ELLIOTT: 8 Board here for a Newfoundland benchmark?
9 A. Yes. | spent considerable time going through 9 MS.ELLIOTT:
10 the analysis. Werun many, many versions,and |10 A. | don't have at my fingertips all the reports
11 thisdata actually takes alot of time to 11 that we've prepared, but it's certainly
12 select and to review and understand that 12 possible that we might have.
13 patterns in the data, because it's so 13 MS. NEWBURY:
14 volatile. 1 can make acomparison for you. 14 Q. And indoing your 15-year trend analysis,
15 In other provinces like Ontario where we have 15 which | understand that you did do in your
16 alarge sampleof data, it ismuch easier 16 review for this particular rate application,
17 because we get more consistent trends. Here, 17 did you determine whether there was a
18 because the datais sothin, we're dealing 18 consistent trend or more than one trend?
19 with so few claims--1 said there’s about 120 19 MS.ELLIOTT:
20 or so ayear, it's very difficult, it'svery 20 A. Well, we did not choose a15-year trendin
21 challenging to pick trends. So weend up 21 this, and | don’t have that number, | don't
22 looking at alot of different alternatives 22 recall what that value was, yeah.
23 here because it’s so challenging. 23 MS. NEWBURY:
24 MS. NEWBURY: 24 Q. Okay.
25 Q. Okay, andinthe 15-year trend analysisthat 25 MS.ELLIOTT:
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1 A. | would hazard a guess given the--and | guess 1 for the more recent experience are subject to

2 it's an educated guess, given the differences 2 change. That’s different than being volatile.

3 that we' ve seen inthelosstrend ratesfor 3 MS.NEWBURY:

4 this commercia auto in Newfoundland, how it 4 Q. Okay, and when you're referring to, you know,

5 can change so significantly whether you're 5 the concerns of using 20 years of data, about

6 using ten years of data, fiveyearsof data, 6 the volatility, which type of volatility were

7 exclude this point or exclude that point--I'm 7 you referring to?

8 pretty surewe'd get a very different number 8 MS.ELLIOTT:

9 if we looked at 15 years aswell. 9 A. Wdll, inlooking at the 20-years of data, and
10 MS. NEWBURY: 10 wehad achart out earlier today that 1'd
11 Q. Andyou have no sense asto whether that would |11 highlighted the yellow, and you can seethe
12 be a higher number or alower number? 12 changesin the average claim size, that it
13 MS. ELLIOTT: 13 went up and down for really all the periods.
14 A. Not off thetop of my head. | cannot recall. 14 So you can see that volatility in the change
15 MS. NEWBURY: 15 in that average severity amount over the
16 Q. If you have asituation where you don't think 16 entire period.

17 thetrend has changed over a period of 20 17 MS. NEWBURY:
18 years, would you not get a better estimate of 18 Q. Sothechangein the average severity, and is
19 the trend if you use al the 20 years of data 19 this based on commercial-industry dataor is
20 if you believe that there is no changein the 20 ittaxi? I'mjust tryingto makesure |
21 trend? 21 understand.
22 MS.ELLIOTT: 22 MS.ELLIOTT:
23 A. Waell, if the data isstable enough, then 23 A. Wdl, we'll make that clear here. Theloss
24 you're going to see more consistency or you 24 trend rates that FA used in itsratefiling is
25 can develop and understand the rationale for 25 based on commercial industry data in
Page 78 Page 80

1 the changes in thedata. So if you have 1 Newfoundland.

2 coverage where there’'ve been no reform 2 MS.NEWBURY:

3 changes, there has been no weather issue, 3 Q. Yeah, and that’sthevolatility that you're

4 everything isnice and smooth, then you can 4 referring to now?

5 often run a 20-year trend and a five-year 5 MS.ELLIOTT:

6 trend because that datais so stable and large 6 A. Thereisvolatility in that commercia data,

7 and voluminous that you get pretty consistent 7 yes.

8 trends. Certainly you can do that, but that 8 MS. NEWBURY:

9 is not the case with this data. Thisdatais 9 Q. Okay, and so you're saying that the volatility
10 not stable at all. 10 that would cause you some concerns in using
11 MS. NEWBURY: 11 al 20 years of datais due not necessarily to
12 Q. Okay, and you'rereferring to the commercial 12 how the clams costs are assessed or
13 industry data? 13 estimated, which would be a recent type of an
14 MS. ELLIOTT: 14 issue--the more recent that type of data, the
15 A. Yes. That'sbeen used here, yes. 15 more volatile that would be, but you're saying
16 MS. NEWBURY: 16 it'sdue to the fact that there have been
17 Q. Yeah, and | understand from your evidence this |17 larger, you know, changes, fluctuations over
18 morning, and correct meif I'm wrong, but my 18 the years?

19 understanding isthat the morerecent the 19 MS. ELLIOTT:

20 data, the more volatile it is. Is that 20 A. Right. There'stwo issueswith the data, and
21 correct? 21 I'll reiterate what we had said earlier today.
22 MS. ELLIOTT: 22 The datafor each accident year changes. So
23 A. No. Not the more recent the data, the more 23 once accident year, we looked at the average
24 volatileit is. That's not what we' re saying 24 severity, it was $75,000, one year later it

25 in terms--the estimates of what the losses are 25 was $35,000. So there’'s alot of volatility
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1 inthe data. The other issueis that when 1 MS. ELLIOTT:
2 we're dealing with these loss amounts that 2 A. No, no.
3 we'retrying to fit atrend line over, they’re 3 MS.NEWBURY:
4 estimates, they’ re subject to change, so data- 4 Q. Okay.
5 -it cantake anumber of yearsfor large 5 MS.ELLIOTT:
6 claimsto settle. So the more recent periods 6 A. Thechangefrom year to year--one is a stable
7 of time are subject to more changein the 7 issue, you don't really have stable data. So
8 estimates, not necessarily the volatility for 8 oneisthe change from year to year. We had a
9 that period. The mix of thesmall or the 9 very good example earlier, I’m going to repeat
10 large claims are what they are for that year, 10 it again. We had $75,000 one year, $35,000
11 but it’ s the estimates of those claims for the 11 thenext. That'svolatility fromyear to
12 more recent years that are subject to change 12 year. Another concernin dealing withthis
13 as those claims are handled and settled. 13 data, and with bodily injury data, it takes a
14 MS. NEWBURY: 14 long timefor these claimsto settle and
15 Q. Okay, and then back to the 20-yearsissue, why 15 close. Some of the claims are complicated,
16 you would not use 20 years of data. So the 16 someone could be a paraplegic, there's death
17 volatility that you're referring to, you're 17 injuries, all sorts of claimsthat are very
18 not sayingthat there are changes in the 18 difficult to handle and close and they take a
19 trends, that thee was one trend earlier and a 19 long time. So there could beaclamthat’'s
20 different trend later on. Y ou're saying that 20 from seven years, ten years ago, even 15 years
21 it was just too volatile to be reliable? 21 ago that still isn't closed. So the estimates
22 MS. ELLIOTT: 22 of the claims are subject to change over time.
23 A. No. I’'m not saying that it’stoo volatile to 23 MS. NEWBURY:
24 be reliable, I'm not say that--what we're 24 Q. Right, and that’'s the second type of
25 expressing is that over the 20-year period, 25 volatility, but the -
Page 82 Page 84
1 over the 10-year period, 15-year period or 5- 1 MS.ELLIOTT:
2 year period, thereisa lot of volatility in 2 A. Andthat appliesto al linesof business,
3 that average claim size. 3 which is different than the volatility. If we
4 MS. NEWBURY: 4 look at bodily injury in Ontario, much larger
5 Q. Okay, and butthat same volatility will be 5 database, it doesn’t have that same volatility
6 there for more--a shorter period of time than 6 from year to year. Wedon't look at one year
7 alonger period of time? 7 the averageis 75 and the next is 35; they're
8 MS.ELLIOTT: 8 not the kind of numberswe have to deal with
9 A. | think what you're--if I’m understanding you 9 there, but n both cases, the estimates for
10 correctly, the more recent estimates, the 10 2012--at December 2012, when we |ook at that
11 claims are newer. 11 data, it'stough to estimatein Ontario, in
12 MS. NEWBURY: 12 Alberta, in Newfoundland. New claims are
13 Q. Yeah 13 subject to change because the claim is opened,
14 MS. ELLIOTT: 14 the claims adjuster--you know, they haven't
15 A. Soif theclaim isfrom 2002, those estimates 15 closed it. So that issue applies no matter
16 are the more recent estimates and, you know, 16 what line of business we're looking at.
17 they’re subject to--those claimsare open, 17 MS. NEWBURY:
18 they haveto be settled and closed. That's 18 Q. Sure, and | do understand what you’ re saying.
19 different than the volatility aspect that 19 I’'m just trying to find out what isit about
20 we're getting at. 20 the volatility--not the difficulty in
21 MS.NEWBURY: 21 estimating the claims costs, but the
22 Q. But areyou saying that one type of volatility 22 volatility over time, and it soundslikeit’s
23 isinthefirst 15 of that 20 years, and that 23 from the small sample size here in this
24 adifferent type of volatility occursin the 24 province. What isit about that volatility
25 last five of the 20 years? 25 that would suggest that you shouldn’t look at
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1 afull 20 years? Would that not actually help 1 MS.NEWBURY:
2 you in dealing with the volatility issue, if 2 Q. Okay. We've been referring to them as
3 you look at alarger amount of data? 3 benchmark reports, but it’s your report to the
4 MS.ELLIOTT: 4 Board twice ayear, theend of June, the end
5 A. No. No, becausethen--I mean, wehad an 5 of December each year, and you propose what
6 example earlier, 1 canfind itagain. You 6 the trend rates are, is that correct?
7 know, we had -14, +95, -59, +44, -26, +19. 7 MS.ELLIOTT:
8 Having more of that doesn’t help me. 8 A. Weprovideareport that then is provided to
9 MS.NEWBURY: 9 insurers for their comment, if they’d like to
10 Q. But it's not eliminating the volatility 10 make changes. | have to acknowledge there
11 problem to ignore the first five or ten years 11 have been very few comments, and I’'m sure
12 of that 20-year period. 12 there' s copies of al those reports that could
13 MS. ELLIOTT: 13 be provided, um-hm.
14 A. It'scertainly not eliminating the volatility 14 MS. NEWBURY:
15 problem. Youcan't eiminate the volatility 15 Q. And those reports are provided for the
16 problem. 16 purposes of setting the benchmark rates, is
17 MS. NEWBURY: 17 that correct?
18 Q. Right. 18 MS.ELLIOTT:
19 MS.ELLIOTT: 19 A. No, there's--I'm afraid there’s no benchmark
20 A. Youknow, if you have datathat’s up and down 20 rates. There'ssome confusion here; there’'s
21 like ayo-yo, like +95, -14, having more of it 21 no benchmark. There’sloss trend rates that
22 doesn’t make it any better. 22 we prepare. Now -
23 MS. NEWBURY: 23 MS. NEWBURY:
24 Q. Okay, and having lessof it doesn't make it 24 Q. Thatyou prepare. What is the purpose of
25 any better either? 25 that?

Page 86 Page 88
1 MS. ELLIOTT: 1 MS. ELLIOTT:
2 A. Suredoesn't. No, sure doesn't. 2 A. Of thelosstrend rates?
3 MS.NEWBURY: 3 MS.NEWBURY:
4 Q. Ms. Elliott, would you be able to provide any 4 Q. Of you providing that to the Board?
5 benchmark rate filings for this provincein 5 MS.ELLIOTT:
6 the last ten years where you did not use the 6 A. Sorry, are you asking about benchmark rates
7 ten and five years as your--for bodily injury 7 that we used to prepare for the Board or loss
8 only? 8 trend rates?
9 MS.ELLIOTT: 9 MS. NEWBURY:
10 A. I'msorry--benchmark rate filings? 10 Q. Trendrates.
11 MS. NEWBURY: 11 MS.ELLIOTT:
12 Q. Yeah. Sorry, not your--your reports for 12 A. Losstrend rates?
13 benchmark reports--your benchmark reports. 13 MS. NEWBURY:
14 MS.ELLIOTT: 14 Q. Yeah.
15 A. Areyou referring to loss trend reports? 15 MS. ELLIOTT:
16 MS. NEWBURY: 16 A. Wdl, we providetheloss trend rates for the
17 Q. No. So twiceayear, | understand that you 17 Board. We do our analysis, the report is sent
18 provide a benchmark report for the Board, and 18 to the insurers for their review and comment,
19 you’ ve been doing that for a number of years. 19 there's, | think, atwo-week period for that.
20 MS. ELLIOTT: 20 If there’ s any comments or consideration, we
21  A. Losstrend reports, not - 21 review that and then the loss trend rates are
22 MS.NEWBURY: 22 provided to the insurers for their use.
23 Q. Losstrend reports. 23 MS. NEWBURY:
24 MS. ELLIOTT: 24 Q. Okay, andwhat 1'm asking that you do isto
25 A. Yeah. 25 identify in those reports any reports that
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Page 89 Page 91
1 relied upon other thanten yearsand five 1 Q. Okay. I'm trying tounderstand how your
2 yearsfor bodily injury. (REQUEST) 2 comment herefitsinto the bigger picture of
3 MS.ELLIOTT: 3 the trend analysis. So you' re talking about a
4 A Okay. 4 five-year period being more responsive to
5 MS. NEWBURY: 5 changing patterns.
6 Q. Thank you. Now I'm going to refer to your 6 MS.ELLIOTT:
7 report at Page 4, and that’sthe March 16th 7 A. Wdll, we're tryingto measure loss trend
8 report. 8 rates, we're preparing a report every six
9 MS.GLYNN: 9 months with new data. So what we're trying to
10 Q. Ms. Newbury, whileyou'relooking for that, 10 measure and present in our reports every six
11 can | just confirm for that undertaking that 11 months is a measure of that changing pattern.
12 Ms. Elliott just provided, would you be 12 So the loss trend rate islooking at the costs
13 looking for those for commercia and private 13 of the data that'savailable, and how are
14 passenger or just for - 14 those costs changing, what is that changing
15 MS. NEWBURY: 15 pattern? Maybe today, the loss trend rate we
16 Q. For both, yes. 16 might calculate for a coverage is+2 percent
17 MS. GLYNN: 17 and maybe five years ago when we did it, the
18 Q. Forboth? Thank you, and for the last ten 18 changing pattern, the data, indicated a +3
19 years? 19 percent. So there's changing patterns.
20 MS. NEWBURY: 20 That'swhy we look at the new information
21 Q. Yes, that's correct. 21 every six months to see, as best we can, what
22 STAMP, Q.C.: 22 isthat changing pattern. So with the new
23 Q. Sothetwice-yearly report. 23 information that’ s provided, we try to assess
24 MS. GLYNN: 24 that.
25 Q. Yeah. For commercial and private passenger. 25 MS. NEWBURY:

Page 90 Page 92
1 Thank you. 1 Q. Okay. Soitisachangein trend?
2 MS.NEWBURY: 2 MS. ELLIOTT:
3 Q. You'venoted in your report--it's actually the 3 A, Wedll, we'retrying to measure what that change
4 report CAOWOO1. That's Page 4 of that report. 4 is, yes, in each report.
5 Soin the second paragraph, you state that 5 MS. NEWBURY:
6 "while the five-year period is generally more 6 Q. Okay. So itis a changein--so changing
7 responsive to changing patterns, due to the 7 pattern refersto a change in the trend?
8 small number of claims and the continuing 8 MS.ELLIOTT:
9 volatility, we donot find the five-year 9 A. That’swhat we're trying to measure, yes.
10 report sufficiently stable and therefore give 10 MS. NEWBURY:
11 consideration to the ten-year period." When 11 Q. Okay, and how often over a 20-year period, you
12 you're referring to changing patterns, are you 12 know, just generaly speaking, would you
13 referring to changes in trends, and if not, 13 expect to see achange in the pattern or
14 what are the patterns that you're referring to 14 changesin the patterns? Would you see that
15 there? 15 frequently over a 20-year period or on
16 MS. ELLIOTT: 16 occasion over a 20-year period?
17 A. The changing patternsis we're trying to 17 MS.ELLIOTT:
18 measure--1 think | spoke to changing patterns 18 A. lthink there'stwo different things here.
19 earlier today, we'retrying to measure the 19 You can see achangein direction, and soin
20 changein thefrequency rate, the severity 20 some cases you could see, due to the
21 rate, the lost costs. So how isthat changing 21 environment, whatever the reasons might be,
22 over time, how are those costs changing over 22 you can see a pattern where frequency rate is
23 time, that’ s what we' re trying to measurein a 23 increasing and then, you know, for whatever
24 loss trend rate. 24 reason, things changeand you can see a
25 MS. NEWBURY: 25 frequency rate declining, andthat occurs,

Page 89 - Page 92
Discoveries Unlimited Inc., Ph: (709)437-5028



November 17, 2014

Multi-Page™

Verbatim Court Reporters

Page 93 Page 95
1 yes. And how often? It dependson the 1 review.
2 environment. There area lot of external 2 MS.NEWBURY:
3 factorsthat can affect achange in direction 3 Q. But when youdo these reviews every six
4 of a pattern. 4 months, and if you come up with adifferent
5 MS. NEWBURY: 5 trend rate for a particular type of coverage,
6 Q. Um-hm, andis it that every six monthswhen 6 isthat because thereisnow achangein the
7 you do your new report, what you’ re observing 7 pattern or a changeinthetrend as of that
8 actually isachangein a pattern or are you 8 new six-month period of time?
9 just better, you know, fine tuning a pattern 9 MS.ELLIOTT:
10 that is there because you now have more data, 10 A. Wdl, the pattern iswhat we'retrying to
11 you can better see a pattern that was already 11 measure, what are the changes, and that lost
12 in existence at the time, but maybe you didn’t 12 cost trend rate isthe terminology used for
13 fully understand it because of more limited 13 that changing pattern that we'retrying to
14 data. 14 measure. We have new data. The Board asks us
15 MS. ELLIOTT: 15 to look at that data every six months and do
16 A. I'm not sure what you're asking me there 16 our analysis. Thedata, sometimesyou could
17 specifically, but I'll try to answer as best | 17 get the same number, you could get ahigher
18 can. We get new information that’s available 18 number or lower number because you' re looking
19 every six months. We review that information 19 at new datathat’s available, new estimates of
20 to try to assess what the lost cost trend rate 20 what losses are compared to private estimates,
21 iS. Thelost cost trend rate is a measure of 21 S0.
22 what we think that changing patternis, on 22 MS.NEWBURY:
23 average, from the historical datathat we're 23 Q. Okay, but are you able to say that, 1ook, this
24 reviewing. New information gives us new 24 isanew trend, six monthslater, or | have
25 insight. GIsa providesthisdata every six 25 better estimated or | can fine-tune atrend
Page 94 Page 96
1 months, so that you can look at it and 1 that | was previously working on six months
2 determine your lost trend rates. It's 2 before? Because it soundsliketo me, when
3 available for usto us, all actuariesto ook 3 you're talking about changing trends and
4 at and review, and that’swhat we do. We're 4 responding to that, that you' re having trend
5 provided with the data and we do our best to 5 rates that change frequently over a period of
6 analyze it every six months. 6 fiveyears or tenyears, and I’'m trying to
7 MS.NEWBURY: 7 understand if that’swhat you're saying or
8 Q. Wedll, perhaps| could ask the question this 8 whether it’s afine-tuning of atrend rate.
9 way, you do your reports every six months and 9 MS.ELLIOTT:
10 | take it that you will frequently have a 10 A. No. Wetruly aretrying to present a balanced
11 changein your trend ratefor a particular 11 approach to being responsive to the new data
12 type of coverage from one six-month period to 12 that’ s available, looking at it, and looking
13 the next? 13 at what our prior selection wasso that we
14 MS. ELLIOTT: 14 have a stable loss trend rate that we present
15 A, Wdl, asl stated earlier, we try asbest to 15 inour report that ensures--can review and
16 be both responsiveand stable, you know, 16 comment upon. The new datas available--I
17 strike a balance with that, which is difficult 17 don't have a pre-conceived ideathat when |
18 with this commercial data, and oneof the 18 get the new data, it's going to change
19 things that we dois draw in our prior 19 everything dramatically. It'sjust the new
20 selection of the lost cost trend rate into our 20 data, I'm going tolook at it and assessit
21 averaging approach, and it's using our prior 21 and prepare areport and provide it for
22 estimate and our new estimate and averaging 22 comment.
23 them for this selection, and we do that moving 23 MS. NEWBURY:
24 forward and that brings a little more 24 Q. Okay, and becauseyou identify a different
25 stability so that we're not up and down each 25 trend rate in December of 2011, for example,
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1 compared to June of 2011, it doesn’t mean that 1 and | don’t know what that mix is, but to me,
2 the trend has changed in that period of time? 2 the changes are so significant that it makes
3 That you were goingin one direction, now 3 intuitive sense. Y ou only have a hundred-and-
4 you're going in a completely different 4 twenty-odd claims, some years you' re going to
5 direction? 5 have some big claims, and it’s affecting the
6 MS.ELLIOTT: 6 average claim size. So the noise in this case
7 A. No,and | wouldn't say that we'regoingina 7 hereisthefact that you haveamix of big
8 completely different direction. As I've 8 claimsand small claims changing, and we're
9 stated we try to take avery stable approach 9 not trying to measure the change in the mix of
10 by looking at our prior selection and 10 claims, whether there was a big death accident
11 incorporating that in. That's one of the 11 or a paraplegic oneyear and not the next.
12 things that we think isimportant with this 12 We're not trying to measurethat. We're
13 limited commercial data that we're working 13 trying to measure what’s the changein the
14 with. 14 cost to settle aclaim. If you had awhiplash
15 MS. NEWBURY: 15 this year and awhiplash next year, how much
16 Q. Areyou familiar withtheterms "noise" and 16 more does it cost you today versusfive years
17 "signal" as used in statistics? 17 from now, that’s what we're trying to measure.
18 MS. ELLIOTT: 18 So this data, because there' s a changing mix,
19 A. Yes 19 iswhat we call noise in the data.
20 MS.NEWBURY: 20 MS.NEWBURY:
21 Q. And how would you describe those terms? 21 Q. And what about signal?
22 MS.ELLIOTT: 22 MS.ELLIOTT:
23 A. Waell, | think we can bring up an example of 23 A. Thesigna inthe data?
24 noise, we referred to it earlier today, and it 24 MS.NEWBURY:
25 wasthe exhibit with the yellow highlights. 25 Q. Yeah.
Page 98 Page 100
1 We had ared arrow onit. 1 MS. ELLIOTT:
2 MS.GLYNN: 2 A. Wedon't measureit directly here, but there's
3 Q. Canyou identify that document, please, for 3 an indication that the data, the fits will be
4 the record? 4 poor with this data. We're not getting a good
5 MS.ELLIOTT: 5 fit with this data.
6 A. It'sfromtheFa Filing, Part 2, 121. So when 6 MS. NEWBURY:
7 we look at the average claim size we're trying 7 Q. Andif you'redoing afive-year analysis, how
8 to measure how does the--what is the change in 8 would you determine that what you’ re measuring
9 the average cost of a claim from period to 9 isactually signal and not noise in the data?
10 period by looking at the severity data, and if 10 You'veindicated that you tend, especially
11 al the clams were fender benders and 11 with these smaller sample sizes, you tend to
12 everyone was very similar, it would be pretty 12 get different mixes, and that’s not unusual,
13 easy. Those costswould besimilar. They 13 you expect that.
14 might be $2,500, $3,000, $3,100--they’d be 14 MS.ELLIOTT:
15 close, it'd be easy to measure what that 15 A Um-hm.
16 changein cost isover time. With thisdata 16 MS. NEWBURY:
17 here, we see alot of ups and downs; we went 17 Q. You'regoingto get maybe oneyear a lot of
18 through that thismorning. So this could be 18 minor claims, the next year maybe a lot of
19 referred to as alittle bit of noise in the 19 major claims, another year smaller number of
20 data. We're not measuring the same thing when |20 claims but quite significant. So you expect
21 we look at the change from period to period. 21 that, and how would you deal withthat in
22 We're not measuring just what is the actual 22 looking at afive-year analysis, to make sure
23 increasein thecosts. Inthat data, isa 23 that what you're looking at is not the noise
24 change of themix of small clamsand big 24 instead of the actual signal.
25 claimsthat are going on from year to year, 25 MS.ELLIOTT:
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Page 101 Page 103
1 A, Right. Ithink inal thisdata, whether 1 refer you back to that sentence--and perhaps
2 we'relooking at 5 years, 10 years, 15 years 2 I’ve misunderstood what you're explaining
3 or 20 years of data, thereis alot of noise 3 there. "While the five-year period is
4 in this data, the fits are poor. FA stated in 4 generally more responsive to changing
5 itsreview that it struggled withits fits 5 patterns, dueto the small number of claims
6 over the 20-year period, it's P-Testsand T- 6 and continuing volatility, we do not fid the
7 Tests were poor, they did not meet their 7 five-year results sufficiently stable and
8 standards. FA last year in its filing 8 therefore give consideration to the ten-year
9 rejected the severity trend rate, it said it 9 period."
10 couldn’t figure it out. So it's very 10 MS. ELLIOTT:
11 difficult with this data to differentiate what 1 A. Um-hm.
12 isthe noise, what are we trying to measure, 12 MS. NEWBURY:
13 arewerealy measuring the intent here, is 13 Q. Sowhat changing patterns, if any, haveyou
14 that cost--the change in cost for the severity 14 identified in this particular analysis?
15 from period to period, there'salot of noise 15 MS. ELLIOTT:
16 here. 16 A. Wdl, intermsof changing patterns, | guess
17 MS. NEWBURY: 17 I’m going to vie you an example of what that
18 Q. And again referring to the changesin pattern 18 could bein a five-year period. Say in
19 in thefive-year period of time, did you 19 Ontario--and | apologize for going back to
20 confirm apoint in time in the two five-year 20 Ontario but it's got abig database and you
21 periods that you looked at for this 21 know, but in Ontario there’s been a lot of
22 particular--your report--did you confirm the 22 issues with fraud, and so we can look at, say,
23 point or pointsintime, if indeed there are 23 some coverage thing like, again, collision,
24 more than one, when the changein pattern 24 itsasimpler coverageto estimate, and if
25 occurred? 25 there is more fraud--they have issues with the
Page 102 Page 104
1 MS.ELLIOTT: 1 tow trucks, with therepair trucks, so if
2 A. Sorry. | don’'t understand your question. 2 something is happening in the last five years
3 MS.NEWBURY: 3 and we see the claims costs are increasing,
4 Q. Soyou'veindicated that the five-year period 4 there' s a changing pattern because there' s an
5 responds to a change in pattern, and have you 5 awareness and there’smore fraud. The tow
6 - 6 truck driversare, you know, just on the
7 MS.ELLIOTT: 7 highway waiting for you. So wetry to look at
8 A. No. I'msorry, | haven't indicated that the 8 that, is there something going on in that more
9 five-year period responded to achange in 9 recent data that we need to be responsive to?
10 pattern. That - 10 That would be atypical thing that we want to
11 MS. NEWBURY: 11 make surewe're picking up inthedata. In
12 Q. Wdl, to changing patterns. 12 this case here, it’ s very difficult to pick up
13 MS. ELLIOTT: 13 achange in what’ s going on in the more recent
14 A. No, no. No, | saidthat we've measured the 14 five yearsversus ten years, but we look at
15 trend rate over afive-year period, whichisa 15 it. Wecalculateit and present it to see
16 measurement of how costs are changing. That's |16 what the data tells us.
17 what we're trying to measure, and we've 17 MS. NEWBURY:
18 measured it over ten years, that’s what we've 18 Q. Okay. Soearlier when! wasasking, just
19 done. | have not stated that there's a 19 trying to understand the terminology "changing
20 changing pattern. What | have stated is here 20 patterns,” | had understood that you, you
21 isthe trend rate over five years and hereis 21 know, confirmed that, yes, indeed, that is
22 the trend rate over ten years. 22 referring to changesin the trends, but am |
23 MS. NEWBURY: 23 correct that you haven't actually identified
24 Q. Okay. Well, let’'s go back to cAowo01, Page4 |24 any changes in thetrends over either the
25 again, the second paragraph, and I’'m going to 25 five- or ten-year period of time?
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Page 105 Page 107

1 MS. ELLIOTT: 1 MS.NEWBURY:

2 A. Right. | think you're incorrect. What | said 2 Q. Okay, andyou didn't find any changesin the

3 was that we' re measuring the trend rate over a 3 trend, in the five- or ten-year period, for

4 five-year period to see what the number tells 4 these coverages?

5 us, and we're measuring it over a ten-year 5 MS.ELLIOTT:

6 period to see what the number tells us. 6 A. That's correct. We're not presenting our

7 MS.NEWBURY: 7 report, that we believe that there’ s a change

8 Q. Okay. 8 in direction at the five-year mark and that’s

9 MS.ELLIOTT: 9 why we presented it. That'snot what we're
10 A. Thefiveyearsisasubset of theten years, 10 saying. We're not identifying that there’sa
11 and wewant to seewhat the calculationis. 11 changein direction if we had 25 years of data
12 That’swhat we' re doing. We' re not saying oh, 12 because we're looking at measuring what is the
13 and | believethereis adifferent direction 13 trend rate over ten years. That doesn’t imply
14 inthetrend rate at five years, that it was 14 that we think there's achange in direction in
15 going thisway at ten years and at five years- 15 that ten-year period than the prior period.
16 -the last five--we're not saying that. We're 16 We're just saying what happened in those last
17 just saying what is that trend rate, what is-- 17 ten years, let’s measure the trend rate over
18 that pattern that we're trying to measureis 18 that period. Andlet's look at the latest
19 the trend rate, the changing costs, what is it 19 fiveyears. What isthetrend rate that we
20 over five years and what isit over ten years, 20 can measure there, what happened there? By
21 period. 21 doing so, we'renot implying that we think
22 MS.NEWBURY: 22 there' s a change in the direction of the trend
23 Q. Okay. Soagain, you were explainingwhy you |23 rate. We're simply trying to measure what it
24 were choosing the five yearsand the ten 24 isinthat time period.
25 years, and | takeit that your evidenceis 25 MS. NEWBURY:

Page 106 Page 108

1 that the five-year periodis generally more 1 Q. Okay. Now you could have achangein the

2 responsiveto changing patterns or changing 2 trend rate that’ s not necessarily a changein

3 trends, which iswhy you include that. 3 direction, is that not correct?

4 MS.ELLIOTT: 4 MS.ELLIOTT:

5 A. For some coverages, yes. It will be, yes. 5 A. Wdll, that'swhy welook at the trend rates,

6 MS. NEWBURY: 6 we do the reports every six yearsto--sorry,

7 Q. Right, and but you haven't actually looked for 7 every six monthsto find out what is the data

8 or identified, in either the five-year period 8 showing usthistime, yeah.

9 of time or the broader ten-year period of 9 MS.NEWBURY:
10 time, any actual changesin the trend? 10 Q. Okay, butin thiscasehere, if you haven't
11 MS. ELLIOTT: 11 identified any changes in the patterns or
12 A. When welook at the data, wedo try to 12 changesin the trends over the ten-year period
13 identify if there’s achange in the direction, 13 of time, they why would you--what’s the
14 issomething going on with that trend rate 14 benefit, then, of looking at the five-year
15 that before the frequency, the number of 15 period?
16 claims was going up, the number of claims that 16 MS. ELLIOTT:
17 you had for al the cars that you insured was 17 A. Sorry. | don’'t understand your question, | -
18 the pattern going up, and then it decreased. 18 MS. NEWBURY:
19 We're definitely looking to see if that 19 Q. Soyou'veindicated that changing patternsis
20 OcCCurs, yes, we are. 20 basically changesin the trends?
21 MS.NEWBURY: 21 MS.ELLIOTT:
22 Q. Andyou looked for that in this case? 22 A. What we'retrying to measure is--we have the
23 MS.ELLIOTT: 23 data, we have the loss cost, and we see that
24  A. Welook for that in every review that we do. 24 experience, say, for the last ten years of
25 We look for that, yes. 25 data and we look at each of those data points
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1 and we'retrying to measurewhat is that 1 know, taking advantage of thefact that you
2 pattern. On average, what isthe percentage 2 now have more dataand perhaps you can fine-
3 changeinthat lost cost over the period of 3 tune your trend rate six months on, as opposed
4 time that we'relooking at. That's the 4 to saying, oh, it's now changed, we were going
5 pattern that we're trying to measure. 5 up until June, now we're going down, or we
6 MS. NEWBURY: 6 were stable before and now we' re increasing or
7 Q. Okay, and so your evidence isthat in the most 7 decreasing?
8 recent five years, you would expect that it 8 MS.ELLIOTT:
9 would be more responsive to any change in the 9 A. Yeah. Wdll, wetry to take into consideration
10 pattern over that five-year period of time? 10 the fact that--we look at what we selected in
11 MS. ELLIOTT: 11 our prior report, we look at what the ten-year
12 A. What we'retrying to say with those wordsis 12 trends and thefive-year trends aretelling
13 that yes, any more recent data, if something 13 us, what those numbers are, and then we try to
14 was happening--I gavethe example of tow 14 take--you know, we're striking a balance here
15 trucks, a problem in Ontario with fraud, that 15 between being responsive to the new
16 the more recent data, that something new 16 measurements that we've calculated, and to
17 that’ s occurring, the more recent data would 17 what we presented in the prior report, and we
18 help you see that if you look at that five- 18 take an average. | am the very first person
19 year period, yeah. 19 to say that thisdataisvery difficult and
20 MS. NEWBURY: 20 challenging to work with, and that’s, you
21 Q. Okay, but you haven't actualy identified any 21 know, astep that wetry and follow here so
22 such change of pattern here? 22 that we have something that we believe is
23 MS. ELLIOTT: 23 stable from report to report.
24 A. That wasan example. No, that’sright. We 24 MS.NEWBURY:
25 haven’t identified - 25 Q. What factorsmight be consideredto cause
Page 110 Page 112
1 MS.NEWBURY: 1 frequency or severity or lost costs to change
2 Q. Orany other change of pattern? 2 over time, other than the passage of time
3 MS.ELLIOTT: 3 itself? And you’ ve mentioned some examples of
4 A, Wdl, whenwe present theloss trend rates, 4 fraud, for example, in another province.
5 the valuesthat are provided arethe values, 5 MS.ELLIOTT:
6 and if those values are different between ten- 6 A. Sure. Yeah, frequency--and one of the
7 year, five-year or whatever period, that's 7 interesting things iswe're seeingin many
8 telling you something, yeah. 8 provinces across the land is that--and even in
9 MS.NEWBURY: 9 the us aswell, we'reseeing adecline in
10 Q. Okay. Sotherehas beenachange intrend 10 frequency and alot is attributed to that--to
11 and--if there’' s been achange in your rate? 11 technology with cars, whether you're starting
12 MS. ELLIOTT: 12 with ABS brakes, now cars have little signals
13 A. Wdl, the numeric value changes, yes. With 13 on thewindows--I like those because | know
14 each review that we do, typically it changes. 14 that they’ll see meif I'm passing them. So
15 There' s new data available, new estimates. If 15 there's more changes in cars that are
16 it never changed, then| assumethe Board 16 happening that are driving areduction in the
17 would say, well, you’ ve done it once and the 17 frequency, so--and I'd say that’s more of a
18 data doesn't change, so don'tlook at it 18 phenomenain the last sort of ten years or so,
19 again. So new data comes in, the Board asks 19 that we're seeing that, yeah.
20 usto look at it, and so we do. 20 MS. NEWBURY:
21 MS.NEWBURY: 21 Q. Okay. Soyou're not surprised, then, that
22 Q. Andjust one more question on that before | 22 frequency is negative?
23 leavethat. Isit possiblethat the--you 23 MS. ELLIOTT:
24 know, looking at it every six months and 24  A. Negative? No.
25 updating your trend rate isactualy, you 25 MS. NEWBURY:
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1 Q. Andintermsof factorsthat might cause there 1 recent datain their trend model because of
2 to be changes in frequency and severity and 2 precipitation, and in that case, the
3 lost cost as well over time, how do you take 3 precipitation was so low, it was unusualy
4 these factors into consideration in your 4 low, that they thought--because Vancouver,
5 analysis? 5 they get alot of rain, that that was causing
6 MS.ELLIOTT: 6 adistortion intheir trend model, so--and
7 A. Couldyou be more specific? I’ m not sure what 7 thisisthe--we're reviewing thisfile. They
8 you' re asking me. 8 had modified their datafor that. So one of
9 MS.NEWBURY: 9 the things you do is you look at the data and
10 Q. Soyou veacknowledged and given examplesof |10 you say, gee, it’s changing, and then you say,
11 factorsthat might cause frequency, severity 11 why is it changing? Andinthat case, the
12 or lost coststo change over time, and I’'m 12 experience was to go and look at the
13 just--other than simply the passage of time, 13 precipitation and say, oh, there was a
14 so how do you take these factors into account 14 dramatic change in the participation and that-
15 in doing your analysis? 15 -there’salink with the frequency rate. So
16 MS. ELLIOTT: 16 it'slooking at the data and then trying to
17 A. Wdl, hopefully my answer will get at what 17 research to find out why did that occur. It’s
18 you're asking me here. Welook at--in our 18 picking up the phoneto Bob Byrne and saying
19 model, we can incorporate many parametersto |19 can you tell meif, you know, such and such--
20 try to measure these external forces. So 20 did anything go on? They’re the things that
21 we're able to include a parameter, or exclude, 21 we do, yeah.
22 depending on what the stats tell us, whether 22 MS.NEWBURY:
23 it'sfor thereforms that happened in this 23 Q. Okay. So basically, you see something in the
24 province, we can incorporate the unemployment |24 data that raises a question, | wonder if
25 rate, we can incorporate the Consumer Price 25 something happened at this point in time, and
Page 114 Page 116
1 Index, we can incorporate precipitation--there 1 then you start to look and make inquiries and
2 are many thingsthat we can incorporate into 2 see if there's any changesin weather or
3 our model to seeisthat telling us something, 3 changesin legidation that could have perhaps
4 doesthat help usget a better fit? Sowe 4 prompted that change?
5 look at that external information, whichisa 5 MS.ELLIOTT:
6 measurement of--to help with the model. You 6 A. Right, and so oftenthat will bethe new
7 know, there is a key example in this province, 7 experience, or the more recent experience
8 and it was during the timeframe when there as 8 comesthrough. We'll investigate and then
9 ahearing. We had avery severe winter when | 9 you'vegot a noteinyour file. As you go
10 was here in Newfoundland and you could see 10 forward over time, you kind of go, oh, yeah, |
11 that in the claims experience, the frequency 11 remember back then there wasthat bad snow
12 rate was really high in the early 2000s. 12 storm and that explains that high point, yeah.
13 MS. NEWBURY: 13 MS. NEWBURY:
14 Q. Anddoyou only look for any impact of suchan |14 Q. Okay, and what happensif you know something
15 event if you're aware of it, or do you look at 15 has occurred, like product reform, within the
16 the statistics, the numbers, the data, and 16 timeframe of your analysis, would you look to
17 then try to see what might explain, you know, 17 see whether there’ s any impact from that or is
18 achange in frequency or a change in severity? 18 itall -
19 How do you go about doing that? 19 MS. ELLIOTT:
20 MS. ELLIOTT: 20 A. Oh, absolutely. | think | just said that. We
21 A. Yeah. Wdl, that's an interesting point, and 21 have in our model the flexibility to include
22 | can speak, becauseit’s public knowledge. 22 or exclude that, depending upon whether it's
23 We'redoing areview in BC and in that filing- 23 significant or not, so we definitely do that.
24 -and BCis government-run auto, and in that 24 MS.NEWBURY:
25 filing, there'san adjustment to the most 25 Q. Sure andI’'m awarethat you do have avery
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Page 117 Page 119

1 flexible model and you canlook at El and 1 Q. Okay, but maybel--so | heard at the beginning

2 Consumer Price Index and number of things, but | 2 of the evidence that you looked at five-year

3 I’m wondering when do you actualy introduce 3 segments, so you'd look at thefirst five

4 that? Do you do that automatically for each 4 years, the next fiveyears, the more recent

5 and every analysis? 5 fiveyears.

6 MS.ELLIOTT: 6 MS.ELLIOTT:

7 A. Yes 7 A. Um-hm.

8 MS. NEWBURY: 8 MS. NEWBURY:

9 Q. Youdo? Okay. So every analysisthat you do, 9 Q. Butyouwould havelooked at a full 15-year
10 you look at that? 10 trend?
11 MS.ELLIOTT: 11 MS.ELLIOTT:
12 A. Yeah. Our model, weclick an X on, click an X 12 A. Welook at numerous segmentations of the data,
13 off. It'sone second, yeah. Absolutely. 13 yeah.
14 MS. NEWBURY: 14 MS. NEWBURY:
15 Q. Soyoudid, infact, look at product reformin 15 Q. Okay. Including the 15-year trend, yes.
16 this particular case? 16 MS. ELLIOTT:
17 MS.ELLIOTT: 17 A. Including 15 year.
18  A. Um-hm. 18 MS. NEWBURY:
19 MS. NEWBURY: 19 Q. Andl also indicated or questioned you this
20 Q. And that was for the ten-year period, 20 morning about the outliers, and you couldn’t
21 presumably? 21 recall, | don’t believe, what data points you
22 MS. ELLIOTT: 22 might have excluded as outliers for a 15-year
23 A. Well, we have 15years of data that we 23 trend.
24 reviewed, and we looked at the reform 24 MS.ELLIOTT:
25 parameter in our review, yeah. 25 A. Right.

Page 118 Page 120

1 MS.NEWBURY: 1 MS.NEWBURY:

2 Q. Okay, and did you keep the information, the 2 Q. It'smy understanding from your evidence, and

3 analysis that you had for that? 3 reports and documentation that you've

4 MS.ELLIOTT: 4 produced, that for five years you exclude one

5 A. No. It's donein Excel, aswe work through 5 point, high and low, and for ten years, you

6 it. 1 don't haveit printed up. 6 exclude two points, high and low.

7 MS. NEWBURY: 7 MS.ELLIOTT:

8 Q. Okay. Soyouwould have discarded that after? 8 A. Um-hm.

9 MS.ELLIOTT: 9 MS. NEWBURY:
10 A. Um-hm. 10 Q. Doyou have astandard approach for excluding
11 MS. NEWBURY: 11 data points when you use a 15-year trend?
12 Q. Andagain, that was a 15-year - 12 MS. ELLIOTT:
13 MS. ELLIOTT: 13 A. No, not presenting--we do look at that. So my
14 A, Weused 15 years of data, yeah, so - 14 answer would be no, we don't have a standard
15 MS. NEWBURY: 15 approach of what we're excluding. Part of
16 Q. 15yearsof data? Would you look for a15- 16 what we--you know, we havethe data, that’s
17 year trend? 17 one of the first thingswe do islook at the
18 MS. ELLIOTT: 18 data without any exclusions, and | can’'t--you
19 A. Wadll, that's one of--as | said as the--when we 19 know, we run many versions of it and say what
20 started our discussion here, that we have 15 20 would happen if we--you know, what about this
21 yearsof dataand welook atthedata, 15 21 point, that point.
22 years. Welook at not just ten years and five 22 MS.NEWBURY:
23 years;, we look at sevenyears. Yeah, al 23 Q. Andwhen you run those versions, do you do
24 different ways. Numerous ways. 24 your, you know, regression statisticsto see
25 MS. NEWBURY: 25 about the fit of the data?
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Page 121 Page 123

1 MS.ELLIOTT: 1 Now, I"'m going to move on and ask about your

2 A. Yes. It'sanautomatic output. 2 understanding of Facility’s approach and more

3 MS.NEWBURY: 3 specificaly do you believe that they're

4 Q. Andyou have no recollection of what youwould | 4 looking at a 20 year trend?

5 have produced or what your results were for 5 MS.ELLIOTT:

6 the 15 year trend? 6 A. | believethat they are looking at 20 years of

7 MS.ELLIOTT: 7 data.

8 A. Notform 2012 now. | do so many, no, | 8 MS. NEWBURY:

9 wouldn'’t - 9 Q. Okay. Andif youwere looking at 20 year
10 MS. NEWBURY: 10 period in conducting a trend analysis, would
11 Q. So,you didn'tdothat inrelation to this 11 you be able to detect if thereis more than
12 particular report for May 16, 2014? 12 one trend present in that data?

13 MS.ELLIOTT: 13 MS.ELLIOTT:

14 A. No. 14 A. Would I--do we havethe capabilities within

15 MS. NEWBURY: 15 our Excel?

16 Q. No, okay. I'mgoing to requestthat you 16 MS. NEWBURY:

17 provide, either look for and provide the 15 17 Q. Yes

18 year with the 2011 H1--so, I'm just trying to 18 MS. ELLIOTT:

19 clarify with my colleague about the 15 year 19 A. Yes, sure.

20 analysis. So, you'veindicated before that 20 MS. NEWBURY:

21 you done a 15 year analysis of a trend, you 21 Q. Okay. And I'mtrying to distinguish between

22 can't recall what outliers you may or may not 22 the talk about the changing patterns this

23 have included in that. 23 morning where it’'s just a bit more--you

24 MS. ELLIOTT: 24 updated from half year to half year, but you

25 A. I don't recall theoutliers and parameters, 25 haven’t actually identified any point in time,
Page 122 Page 124

1 but I know one of the--we have 15 years of 1 but I'm wondering, you know, more

2 dataand it’'s an easy processfor us to run 2 specifically, can you look at 20 years and say

3 our model. 3 here’'s a trend from this period to that

4 MS. NEWBURY: 4 period, it changes and now we're moving on to

5 Q. Okay. So, I’'mgoing to request that you do 5 a different type of a trend. So, you're

6 that please (REQUEST). 6 saying that you do have the capability to do

7 MS.ELLIOTT: 7 that. Would one such trend be independent of

8 A. Okay. 8 another trend, if you do find two or more

9 MS.NEWBURY: 9 trends ina 20 year period or al5 year
10 Q. Thank you. 10 period?

11 MS. GLYNN: 11 MS.ELLIOTT:

12 Q. Canwe clarify theperiod? We're taking 12 A. Would they be independent?

13 about a 15 year period, but where we start and 13 MS. NEWBURY:

14 where we end. 14 Q. That'scorrect.

15 MS. NEWBURY: 15 MS.ELLIOTT:

16 Q. Wadl, let'ssay, we've been doing the end of 16 A. It'spossiblethat they’reindependent, sure.
17 2012, so December 2012 and also June 2012. 17 MS. NEWBURY:

18 MS. ELLIOTT: 18 Q. Okay, but if they’retwo distinct trends, if

19 A. Yes, okay. 19 you decided that they’re going up a a
20 MS. GLYNN: 20 consistent rate for six years and then for the
21 Q. And 15 years back, okay. 21 next seven years, they are stable and then the
22 MS.NEWBURY: 22 final few years, they go on a downward
23 Q. Andfor bodily injury, asoif you could do 23 direction, would the valuesthat you get for
24 the same exercise for two periods, 1998 H1 - 24 period one bein, any way, influenced by the
25 2004 H1 and 2004 H2 to 2012 H2. (REQUEST). |25 valuesin period 3 or could you basically look
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Page 125 Page 127
1 at the third period and say, well this is 1 MS.ELLIOTT:
2 separate. 2 A Wdl the-sure. The reason why we're
3 MS.ELLIOTT: 3 concerned is that they’ re taking 20 years of
4 A Right. 4 dataand they’re assuming aspart of their
5 MS. NEWBURY: 5 model for every coverage, collision, AB,
6 Q. Whatever happened back in 2002 for exampleis | 6 property damage, BI, they’ re assuming that the
7 not going to influence what my claims costs 7 2002 reforms affected all of those coverages.
8 are going to be a year from now? 8 And they come up with reforms costs, and AB
9 MS.ELLIOTT: 9 was a big example with the reforms causing
10 A. Sure, and there's different ways torun a 10 claims toreduce by 73 percent. And so
11 model. You can run amodel over the full 20- 11 they’ve said that there's a change that
12 year period and then layer on top of that a 12 occurred at 2004-2 that there’sa new trend
13 different trend rate, so those--one long trend 13 rate because of reforms caused this big
14 rateisn’t merged in with the separate trend 14 massive reduction in costs for AB, down 73
15 rate. 15 percent, and now everything is trending
16 MS. NEWBURY: 16 differently at that point. So you have to buy
17 Q. Yes 17 inthat the reforms caused ABtodrop by 73
18 MS. ELLIOTT: 18 percent and then say now thetrend rateis
19 A. Oryoucan dliceit up into two separates one, 19 different at that point. Soif you accept
20 which | understand is what FA did. 20 that there’' sreforms, that there’sachangein
21 MS.NEWBURY: 21 pattern at that point, that the reforms caused
22 Q. Okay. Sothey had two separate trend rates, 22 this drop, and now you’'re just going to look
23 and isit your understanding that the second 23 at that eight-and-a-half-year period because
24 trend rate is separate and distinct from the 24 you think the trend rate, the direction has
25 first trend rate? 25 changed from the prior periods. Over the 20
Page 126 Page 128
1 MS.ELLIOTT: 1 yearsyou might seeatrend rate going this
2 A. It'smy understanding that they take the trend 2 way for AB, andthen it goes that way,
3 rate over the period, the eight and ahalf 3 starting at 2004-2. That’s what the FA model
4 years, from 2004-2 to 2012-2, and that period 4 is. So although they are effectively just
5 istheir measured trend rate that’ s applied to 5 using that last eight and a half years, it is
6 taxi experience, yeah. 6 driven by saying, "Here’'s alow point from
7 MS.NEWBURY: 7 2004-2, and wethink costs decreased by 73
8 Q. Okay. So if the capability exists for 8 percent for AB, and now they’re going up.” If
9 detecting multiple trends which might occur in 9 you buy that, then you can buy that there's a
10 a20-year period of time, why would you be 10 changein direction.
11 concerned that Mr. Doherty has looked at a 20- 11 MS. NEWBURY:
12 year period, you know, in looking at the data? 12 Q. Okay,so | takeit fromyour evidence that
13 It seems likethere's been some sort of 13 your concern with Mr. Doherty and Facility
14 criticism | guess, or you've got some 14 using 20 years of data isn’t necessarily the
15 differences of opinion asto why he would look 15 fact that he's used 20 yearsof data. It's
16 at 20 years of data? 16 just that you disagree that there’s been an
17 MS.ELLIOTT: 17 impact from the reform in 2004?
18  A. Um-hm. 18 MS.ELLIOTT:
19 MS. NEWBURY: 19 A. And| think what happens with this approach is
20 Q. Butwheninfact he'sidentified that thereis 20 assuming for all the coverages that there was
21 aseparate and distinct trend inthe last 21 an impact on the reform. That's what they do.
22 eight and a half years, why would you be 22 They don’t explain in their rate filing why
23 concerned that heinitially started out by 23 costs for BI would have gone down 73 percent
24 looking at the first twelve and a half years 24 for reforms, and so in doing so, and in
25 or eleven and half years? 25 accepting what their model printsout for
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Page 129 Page 131
1 them, accepting this reform cost, they are now 1 MS.NEWBURY:
2 forced to say, "I have this eight-and-a-half- 2 Q. Soitwasn't that he'strying to force -
3 year period, from 2004-2 to the end of 2012. 3 MS.ELLIOTT:
4 | have this eight-and-a-half-year period, so 4 A. No.
5 now | haveto kind of work with it because 5 MS. NEWBURY:
6 things have changed." See it kind of, | 6 . - areform into the data.
7 think, forces them into alittle bit of a box 7 MS.ELLIOTT:
8 that they’ve now accepted, that the reforms 8 A. Yeah
9 changed things starting in 2004, reduced AB 9 MS.NEWBURY:
10 costshy 73 percent, and now we have anew 10 Q. It's justthat data suggestedit and the
11 pattern. 1t--1 think it putsthemin alittle 11 statistics confirmed that from hisanalysis,
12 bit of abox and now | have eight and a half 12 but in terms of your comment that he' s chosen
13 yearsto work with going forwardand now I'm |13 abox, it's an eight-and-a-half-year box, and
14 going to see what happened to the trend rate 14 how he had to force everything to fit that,
15 over that period. Sousing the 20 years, 15 how is that any different than selecting a
16 assuming that the reforms affected all the 16 predetermined length of time such as ten
17 coverages, limits them to this eight-and-a- 17 years? Would that not suffer from being
18 half-year period going forward. 18 considered forced into abox and not seeing
19 MS. NEWBURY: 19 what happened in alonger period of time?
20 Q. Now it wasactually Mr. Doherty’s evidence 20 What’ s magical about the ten years?
21 that he didn’t assume that there was an 21 MS.ELLIOTT:
22 impact. Infact, hewas looking at the data 22 A. Wédl, our differenceisthat we do look at the
23 and tested four possibilities that that 23 ten years ending December 2012. Welook at it
24 happens. And | understand that you look at 24 ending June 2012. Welook at the five years
25 these type of things as well, you 25 under two alternatives. So we look at
Page 130 Page 132
1 automatically look at El and cPI, so the fact 1 dternatives, and when we look at those
2 that he looked at the 2004 reform as a 2 aternatives, we see that very different
3 potential for achangein the trend isn’t any 3 calculated trend rates present themselves. So
4 different than what you do, isthat correct? 4 that’ swhat’ s different. FA is presenting one
5 MS.ELLIOTT: 5 calculation withthis eight-and-a-half-year
6 A. Yes 6 period that they are using, and that’s the
7 MS.NEWBURY: 7 number that they’re picking. We're saying
8 Q. Yes 8 when you have different time periods,
9 MS.ELLIOTT: 9 different exclusions, you get very different
10 A. You canput aparameter in your model to 10 numbers, and we need to take this uncertainty
11 measure for that, yes. 11 of the data into consideration in our
12 MS. NEWBURY: 12 selection. That’s the difference.
13 Q. Now heactually saysin his evidence that was 13 MS. NEWBURY:
14 the statistics that made him conclude that 14 Q. Soyou're--you think that the fact that you're
15 something changed then. He wasn't even 15 taking four different regressions over four
16 necessarily sure that it was the reform, but 16 different periods of time, different lengths
17 there were changesand it was actually the 17 of time, and averaging those out would
18 numbersand the regression statistics that 18 actually take care of any issues with
19 confirmed indeed - 19 restricting yourself to aten-day period of
20 MS. ELLIOTT: 20 time because you're adjusting it? It'snot
21 A. Yeah. 21 just ten years, it’s ten years and then we'll
22 MS.NEWBURY: 22 shift it back by six months, so that’ll be a
23 Q. -that there was a change there. 23 separate ten-year period time, and then we'll
24 MS. ELLIOTT: 24 aso limit it to the most recent fiveyears
25 A. Sure 25 and shift that back?
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Page 133 Page 135
1 MS.ELLIOTT: 1 yourself to looking at the ten-year period of
2 A, Um-hm. 2 time -
3 MS.NEWBURY: 3 MS.ELLIOTT:
4 Q. Sothat, inyour view, that takes care of the- 4 A. Um-hm?
5 -having a predetermined length of time? 5 MS. NEWBURY:
6 MS.ELLIOTT: 6 Q. -if you happen to have adifferent trend that
7 A. Whatwe're tryingto dois find a balance 7 ended for example in the first couple of years
8 between being responsive and stable. So yes, 8 of that ten-year period of time, don’t you run
9 we take the various averages over the ten-year 9 the risk that you are going to be missing that
10 periods and the five-year periods, and make 10 previous trend?
11 your selection, and draw in what we selected 11 MS. ELLIOTT:
12 the prior period. And that we believe gives 12 A. Wdl, wewould see it when we look at the--if
13 usa responsive and stable approach to the 13 I’m understanding what you’re saying, in the
14 loss trend selection. |’ m not an advocate of 14 more recent period, if welook at the five-
15 doing one run with this data, looking at what 15 year trend, we would see that.
16 the number is. TheR square, you know, it-- 16 MS. NEWBURY:
17 we're not looking at R squaresthat are up in 17 Q. And how would you see that?
18 the nineties and it’sa great fit. FA has 18 MS. ELLIOTT:
19 presented their one run, and that’s their 19 A. Because we calculateit.
20 selection, and | maintain that you can exclude 20 MS. NEWBURY:
21 different points, different time periods, and 21 Q. Soyoucanseethat if you've got Year 1 and
22 get very different numbers because the datais 22 Year 2which isthetail end of atrend from
23 volatile. And if you just pick one number and 23 the ten-year period before that, or five-year
24 say, "That'sit, that’sright. 1’ve got the 24 period before that -
25 bet fit," you may not have the right answer. 25 MS.ELLIOTT:
Page 134 Page 136
1 Thisdataisvery volatile. I'm really saying 1 A Sorry, what'sYear 1 and Y ear--what years are
2 it very uncertain. 2 you referring to?
3 MS.NEWBURY: 3 MS.NEWBURY:
4 Q. Soifyou restrict yourself to the ten-year 4 Q. Thesearejust examples.
5 period, are you not running arisk that you-- 5 MS.ELLIOTT:
6 thefirst few yearsof that period of time 6 A. Sure
7 might actually contain a separate and distinct 7 MS.NEWBURY:
8 trend, and you're only catching thetail end 8 Q. Thisisa hypothetical question. So if you
9 of that inyour ten-year analysis? Do you 9 arelooking at aten-year period of time, and
10 take that into account in your approach? 10 you've got the first two years which -
11 MS.ELLIOTT: 11 MS.ELLIOTT:
12 A. Wdl, we'relooking at ten years of data and 12 A. Okay, well which arethefirst two years? The
13 measuring the change over that ten-year 13 older years or the more -
14 period. 14 MS. NEWBURY:
15 MS. NEWBURY: 15 Q. Theolder years.
16 Q. Yes 16 MS.ELLIOTT:
17 MS.ELLIOTT: 17 A. Okay.
18 A. We're--and then we're also looking at the more |18 MS. NEWBURY:
19 recent five years and measuring the change in 19 Q. Yes. Sothe older--theoldest of the two
20 that period of time. So--and we're aso 20 years.
21 seeing pretty different results for that. So 21 MS ELLIOTT:
22 | think our approachis, you know, what we 22 A. Um-hm.
23 think is a reasonabl e approach. 23 MS. NEWBURY:
24 MS.NEWBURY: 24 Q. Year1and Year 2 out of tenyearshappen to
25 Q. But my questionis that if you restrict 25 be the tail endof a trend from the--a
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Page 137 Page 139
1 previous period of time. 1 Q. Isitpossiblethat the Facility Association
2 MS.ELLIOTT: 2 charts which showed the full 20 years of data
3 A Um-hm. 3 as opposed to 15 years of datawould allow the
4 MS. NEWBURY: 4 additional data to reveal aseparate trend
5 Q. Howwould looking at the most recent five 5 that started in the, say, the most--the
6 years detect that previous trend? 6 earliest of thefive yearsof that 20-year
7 MS.ELLIOTT: 7 period of time?
8 A. Wadllif you'renot including that in the five- 8 MS.ELLIOTT:
9 year model, you' re not going to see that. 9 A. Soyou're asking meif atrend occurredin
10 MS. NEWBURY: 10 1993 to 1998in there, if it identified
11 Q. Yes 11 something different going on?
12 MS.ELLIOTT: 12 MS. NEWBURY:
13 A. Butif youlook at the full ten years, and you 13 Q. Wadl it could be atrend that startsin '96 -
14 look at your fitted valuesand your actual 14 MS. ELLIOTT:
15 values, and compared that, you' re going to see 15 A. Sure
16 any differences there. Yeah, and it might 16 MS. NEWBURY:
17 force you to, you know, look at that and maybe |17 Q. - and endsin 2002 or -
18 you're going to decide that you're not going 18 MS. ELLIOTT:
19 to use those more recent--the first year and 19 A. Infact, inthink therewas. | think the
20 the second year - 20 frequency, it was going up then.
21 MS.NEWBURY: 21 MS.NEWBURY:
2 Q. Yes 22 Q. Yes
23 MS.ELLIOTT: 23 MS.ELLIOTT:
24 A. -becauseit’snot giving you agood fit. 24 A. Andthen around 2000 it started declining.
25 MS. NEWBURY: 25 MS. NEWBURY:
Page 138 Page 140
1 Q. Right. 1 Q. Yes
2 MS. ELLIOTT: 2 MS. ELLIOTT:
3 A. Thedirection ischanging. Certainly you look 3 A. So--butl aready know that because | looked
4 at the data. 4 at that data before. So yeah, but what am |
5 MS. NEWBURY: 5 going to do with it in 2015?
6 Q. Butyou'renotlookingto seewhether or not 6 MS. NEWBURY:
7 there' s actually more than one trend going on 7 Q. Okay. Soyou don'tfeel thatthere's any
8 and I’'m restricting myself to ten years? 8 advantage looking at an additional five years
9 MS.ELLIOTT: 9 of data, at the, you know, the earliest 15 to
10 A. Weabsolutely look at the datato see what’'s 10 20 years ago for example.
11 going on with the data. We absolutely do. 11 MS. ELLIOTT:
12 MS. NEWBURY: 12 A. | don't think looking at 1993 to 1997 in 2015
13 Q. Okay, beyond the ten years? 13 isgoing to help inany way. Andl have
14 MS.ELLIOTT: 14 looked at that data over time. Now let’ s not-
15 A. Welook at the data. 15 -you know, as| said, we’ve been doing this,
16 MS. NEWBURY: 16 looking at trend rates over a period of time.
17 Q. Yes. 17 | have some, vague as it may be, recollection
18 MS.ELLIOTT: 18 of data from back then.
19 A. The15years, to see what is going on with the 19 MS. NEWBURY:
20 data 20 Q. Okay, andis thereaharminlooking at the
21 MS.NEWBURY: 21 full 20 years of data?
22 Q. Okay, but not 20 years? 22 MS. ELLIOTT:
23 MS. ELLIOTT: 23 A. Noharm. No harminlooking at it, no.
24 A. No, not 20 years. 24 MS. NEWBURY:
25 MS. NEWBURY: 25 Q. Now it'syour evidence, and you just alluded
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Page 141 Page 143
1 toit again, that there has been achangein 1 MS.NEWBURY:
2 frequency. | think you'veindicated since 2 Q. Okay. Youreferredtotheca ow 001, page 1
3 20027 Isit 2002 that you - 3 of that report. You state inthat report
4 MS.ELLIOTT: 4 that, "We modelled the data several different
5 A. Earlier | think there was an increasing 5 ways in an attempt to identify the underlying
6 pattern and then it started to decline. 6 trends during the experience period with and
7 MS.NEWBURY: 7 without certain data points that are
8 Q. Okay. 8 considered to be statistical outliers, and
9 MS.ELLIOTT: 9 over time periodsthat arelonger than the
10 A. Yeah 10 experience period.”
11 MS. NEWBURY: 11 MS.ELLIOTT:
12 Q. Andthat hasincreased? That is continuing to 12 A. Sorry, isthison the screen or -
13 this day, the change in frequency? 13 MS. NEWBURY:
14 MS.ELLIOTT: 14 Q. Perhapswe can scroll down alittle bit to see
15 A. | believe that the frequency isa decline, 15 wherethat is. It'sthe third paragraph. |
16 yeah. 16 don’'t believe that’sthe one. Oh, it's page
17 MS. NEWBURY: 17 4,isit? Sorry. I’ ve got the wrong page over
18 Q. Okay. And that’sover quite along period of 18 there. Just bear with me for a minute.
19 timethenin that case? Soyou can havea 19 MS. GLYNN:
20 trend that goes for more than ten years? 20 Q. | think we haveit there on the screen now,
21 MS.ELLIOTT: 21 Jennifer.
22 A. Yes, we're--and | said that we're seeing this 22 MS.NEWBURY:
23 decline in the frequency rate in many 23 Q. Oh, isthere?
24 provinces. 24 MS. GLYNN:
25 MS. NEWBURY: 25 Q. Yes

Page 142 Page 144
1 Q. Yes 1 MS.NEWBURY:
2 MS.ELLIOTT: 2 Q. Yes, sorry, it’sthe fourth paragraph, at the
3 A. Andwe attribute that more so in the last ten 3 very end. Okay? So, "Wemodelled the data
4 yearsto advances in technology with vehicles. 4 several different ways in an attempt to
5 MS. NEWBURY: 5 identify the underlying trends during the
6 Q. And given that you do recognize that there is 6 experience period with and without certain
7 atrendin frequency inand of itself which 7 data points that are considered to be
8 would be not necessarily the same as the trend 8 statistical outliers, and over time periods
9 inloss costsor severity, would that mean 9 that are longer than the experience period as
10 that it should be important or beneficial to 10 a means of increasing the stability
11 look at these trend rates separately? 11 reliability of the data being analyzed." Now
12 MS. ELLIOTT: 12 there' s several different ways that you refer
13 A. Absolutely, and we do that, yeah. 13 to modelling the data. Can you explain what
14 MS. NEWBURY: 14 that means?
15 Q. Okay. Now in thetrend ratesthat you've 15 MS. ELLIOTT:
16 provided, there are actually--it's one trend 16 A. What we'retrying to express hereisthat we
17 rate for severity and frequency combined into 17 look at measuring the trend rate. Y ou know,
18 loss costs? 18 perhaps modelling is abit of a confusing
19 MS. ELLIOTT: 19 word, but measuring the trend rate over
20 A. Right, because when the--in the application of 20 several different time periods with different
21 thetrend rate itis onenumber. In the 21 exclusionsand that’swhat we'retrying to
22 exhibit prepared by FA they take their taxi 22 express there.
23 experience and they apply the loss trend 23 MS. NEWBURY:
24 factor. It'sone number that’s presented for 24 Q. Okay. So basicdly it'sthe--you have some
25 the loss costs, yeah. 25 specifics in your report about the time
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1 periods and the data exclusions, but you're 1 becauseit’sso limited and volatile, we do
2 saying that you did much more than that? 2 not get as good fits, our R squares are not
3 MS.ELLIOTT: 3 what we' d like them to be.
4 A. Yes 4 MS.NEWBURY:
5 MS. NEWBURY: 5 Q. Okay.
6 Q. But you haven't produced the reports and 6 MS.ELLIOTT:
7 haven’'t necessarily kept all of that 7 A. Andit'sadifficult datato fit.
8 information? Y ou're just saying that you have 8 MS. NEWBURY:
9 done a bunch of other models? 9 Q. Okay. So,youdousethisT statistic in your
10 MS. ELLIOTT: 10 own trend analysis or analyses?
11 A. Right, we showed earlier a 2012 exhibit where 11 MS. ELLIOTT:
12 there was a summary of some of the runs that 12 A, Um-hm.
13 we prepare - 13 MS. NEWBURY:
14 MS. NEWBURY: 14 Q. Andhow isthat related to the P value which
15 Q. Yes, okay. 15 Mr. Doherty has referred to from time to time
16 MS.ELLIOTT: 16 in his evidence and in some of his
17 A. -that are broader than what's presented in 17 documentation?
18 the summary, inthe discussion section for 18 MS. ELLIOTT:
19 each coverage. 19 A. They'reactualy similar measures, if you have
20 MS. NEWBURY: 20 alow Pvalue, you'll tendto havea high T
21 Q. Okay. 21 statistic measure.
22 MS.ELLIOTT: 22 MS.NEWBURY:
23 A. Yeah. 23 Q. Andis thereaway of describing, likeyou
24 MS. NEWBURY: 24 know, what does P value mean? Isit -
25 Q. Andwould that be comprehensive? Wouldthat |25 MS. ELLIOTT:
Page 146 Page 148
1 include everything that you did? 1 A, Wdl, Pvalueand T value are both trying to
2 MS.ELLIOTT: 2 indicate whether they parameter that you're
3 A No 3 using adds to the--so, say if you incorporated
4 MS. NEWBURY: 4 precipitation into your model and if your T
5 Q. Andhow do you measure thevariousmodelsin | 5 valuewas 3.5 and your P value was .0001,
6 terms of their ability to identify underlying 6 you' d think yeah, okay, that’s pretty good. |
7 trends during the experience period? 7 really should include precipitation in my
8 MS.ELLIOTT: 8 model. So, there are different valuesthat
9 A. Well we have anumber. There's standard stats 9 you're looking for for Ptestanda T test,
10 that are produced, and we're looking at a 10 but both are trying toindicate that the
11 measure called an R square, we're looking at, 11 parameter is adding to your fit. 1t'sagood
12 and a T statistic. They would bethe two 12 parameter to use.
13 common onesthat we look at to determine 13 MS. NEWBURY:
14 whether the parameters are significant in the 14 Q. Butdoes it have any sort of meaning, you
15 model. 15 know, it's--you often hear about stats,
16 MS. NEWBURY: 16 something is correct 99 times out of a hundred
17 Q. Andhow would you describe the T statistic to 17 or -
18 lay people like most of us? 18 MS. ELLIOTT:
19 MS. ELLIOTT: 19 A. Sure,and| don’'t havethe T test book. |
20 A. Sure. WEell there'sa set value, and we're 20 mean, there’'s awhole page of numbers, but
21 really looking at what isthe value of the T 21 yes, there’ s abook and there’ savalue that’s
22 statistic. Typically we want to see a number 22 printed that you're looking at, yeah.
23 of two or higher to indicate that that 23 MS. NEWBURY:
24 parameter is significant, that’s it’s adding 24 Q. Isthereoneterm that would he more helpful
25 tothemoddl. And certainly with this data 25 in describing itto lay people? Isthe T
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1 statistic more useful when dealing with other, 1 that particular data point to be different.
2 you know, technical people andthe P value 2 And we spoke earlier about and example in
3 more helpful when dealing with lay peoplein 3 Vancouver where they found the precipitation
4 terms of its - 4 was causing a difference. So, yes, you have a
5 MS.ELLIOTT: 5 particular data point that you think is out of
6 A. | don't know, we have fairly highly educated 6 keeping with everything else and if you
7 peopleintheroom, but | use T statistic to 7 include that data point in your trend model,
8 look at whether that value that we are 8 then perhaps you won't get the best
9 including in the trend model adds to the fit, 9 calculation or the best measurement that

10 if it's significant. 10 you' re intending to measure.

11 MS. NEWBURY: 11 MS. NEWBURY:

12 Q. Andhow wouldyou chooseto rely upon one |12 Q. So, basically it'sadata point that’s out of

13 description over the other? Why would you 13 keeping with everything else and there might
14 chooseto refer to T statistic as opposed to P 14 bean explanation for it, it might not be
15 vaue? 15 necessarily an error in the data, there could
16 MS. ELLIOTT: 16 be a very good explanation for it, like -
17 A. You could have both, | mean, if not objection 17 MS.ELLIOTT:
18 to having both. You could have one, I mean, 18 A. And sometimesyou don’t necessarily know what
19 you could, it'sjust avalue that if you will, 19 the reason is. You just know that it’s realy
20 comes out from an excel model. 20 different then everything else.
21 MS.NEWBURY: 21 MS.NEWBURY:
22 Q. Okay. And what isthe term outlier, asit’s 22 Q. Andit may or may not be explainable.
23 used in statistics? 23 MS.ELLIOTT:
24 MS. ELLIOTT: 24 A. Unfortunately, that’s true.
25 A, Wéll, there’d beacommon term, often for an 25 MS. NEWBURY:
Page 150 Page 152
1 outlier in statistical terms you're looking at 1 Q. Andyou noted that when you do your different
2 the actual data and then you're looking at the 2 ways of modelling the data that you will do it
3 fitted data and then the difference between 3 with and without certain data points that are
4 those two pieces of data. 4 considered to be statistical outliers. And
5 MS. NEWBURY: 5 I’m wondering how would you determineif a
6 Q. Um-hm. Canyou get intoabit more detall 6 datapoint is, in fact, an outlier?
7 about specifically what an outlier is? Isit 7 MS.ELLIOTT:
8 different than--how different? 8 A. Wdll, in our approach and in what I'm
9 MS.ELLIOTT: 9 expressed earlier today, what we do is that we
10 A. Wdl, that redly is the issue is how 10 take the two highest and two lowest points, we
11 differentis it? What isthat difference? 11 feel that that helps reduce the, exclude the
12 o, if you take al your data and you run, try 12 points that are high and low out of the model
13 tofit aline toit and maybe you have a 13 inour measurement and that’sthe approach
14 really good fit, but you’'ve got one piece of 14 that we' ve taken and we do that from review to
15 data that it'sdifferent from the actual 15 review.
16 experience is really why maybe it's much 16 MS. NEWBURY:
17 higher or much lower, whatever the case may 17 Q. Okay. Andisit the consistent number of data
18 be, you could consider that an outlier. 18 points that you would exclude? Do you
19 MS. NEWBURY: 19 exclude, in some reviews, one data point for a
20 Q. Okay. So,is it sort of likean anomaly in 20 ten year period of time and maybe the next
21 the data? It'sdifferent from most of the 21 time, four data pointsfor aten year period
22 datathat, you know, either it’s alot higher 22 of time?
23 or alot lower - 23 MS.ELLIOTT:
24 MS. ELLIOTT: 24 A. Wdll, | think that wetypically, whenwe're
25 A. Right, there could be something that caused 25 looking at ten year, exclude two high and two
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1 low and five years, one high and one low. 1 MS.ELLIOTT:

2 MS.NEWBURY: 2 A. Therée stestswhere you can, you're looking at

3 Q. Okay. Andfora 15year youdon't have a 3 the difference and what the differenceisfor
4 typical exclusion. 4 each of the data points, where you're

5 MS.ELLIOTT: 5 measuring those differences, there'll be a

6 A. Wehaveapresented trend ratesfor 15 years 6 bell curve of the differences and you're

7 in our report. So, as| said earlier, | don't 7 trying to see how far within that bell curve

8 have a number for you. 8 those differenceslie, yes.

9 MS. NEWBURY: 9 MS. NEWBURY:

10 Q. Okay. Anddoyoudo any testing to perform, 10 Q. Okay. Andyou haven't doneof any of this

11 if in fact, the data points, the two high, the 11 sort of testing?

12 two low in aten year period, for example, are 12 MS. ELLIOTT:

13 in fact outliers? 13 A. Notinthisexample, no.

14 MS.ELLIOTT: 14 MS. NEWBURY:

15 A. Wdl, wearelooking at the data without any 15 Q. Okay. And why not?

16 exclusions. The actual data and how does that 16 MS.ELLIOTT:

17 fit in looking at the differences, yes. 17 A. Becausewe' ve taken the approach that we're

18 MS. NEWBURY: 18 going to exclude the two highest and the two

19 Q. Okay, but do you do any specific tests, not 19 lowest, the datais very volatile and that's

20 just comparing how does it look with no 20 why, because it’s so obvious to alay person

21 exclusionsand how doesit look with four 21 when you have a point up here and a point down

22 exclusions, two high and two low? 22 there that they’re high and low.

23 MS.ELLIOTT: 23 MS. NEWBURY:

24 A. We're looking at the actual data and the 24 Q. Okay. Now, you said that alay person would

25 fitted data. Y ou can see graphically and with 25 be ableto see some of the outliers. Would
Page 154 Page 156

1 this commercial data, alayman can see some of 1 you expect an outlier to be obvious or

2 the outliers, | mean, they’'refairly extreme 2 noticeable all the time? Would each and every

3 because the datais so limited. But yes, as| 3 outlier seem obviousto the lay person?

4 said, we' re excluding the two high and the two 4 MS.ELLIOTT:

5 low. 5 A. Wdll, I guess if you'relooking at the--no,

6 MS. NEWBURY: 6 not all the time, no, not all the time, some

7 Q. Okay. 7 of the time here for sure.

8 MS.ELLIOTT: 8 MS. NEWBURY:

9 A. Welook atthe actual data and the fitted 9 Q. Andintermsof the, | guess, the exclusion of
10 data, with no exclusions and see those 10 data points as being outliers, it would seem
11 differences. Welook at the graphs of the 11 from your approach that outliersoccur in
12 data and see these high points. That’s what 12 pairs, that you have one high and one low, two
13 we do. 13 high/two low. What is the statistical support
14 MS. NEWBURY: 14 for this approach?

15 Q. Okay. Arethere any nameson any of the tests 15 MS. ELLIOTT:

16 that you perform? 16 A. I don'tthink there's astatistical approach

17 MS.ELLIOTT: 17 that I'm going to reference. It's the

18 A. No. 18 approach that we’ ve taken to try to smooth out
19 MS. NEWBURY: 19 the effect of the highsand thelows, the

20 Q. Aretherestandard teststo confirm whether a 20 extremesthat we aretaking. | don't have--
21 datapoint is, in fact, an outlier? 21 there' s not anamefor it.

22 MS.ELLIOTT: 22 MS.NEWBURY:

23  A. Yes 23 Q. Okay, but it isan assumption that if you have
24 MS.NEWBURY: 24 one high outlier, then you’ll have a matching
25 Q. Andwhat are those standard tests? 25 low outlier and if you have two high outliers,
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1 you'll have two matching low outliers? 1 and the two high outliers?

2 MS. ELLIOTT: 2 MS. ELLIOTT:

3 A. We'retaking the approach that we can have a 3 A. Sure, on the column, Excluded Data Points, you

4 more stable result by excluding the two high 4 take the bottom four Y’ s and that would be the

5 and the two low points. 5 four excluded points.

6 MS. NEWBURY: 6 MS. NEWBURY:

7 Q. Andis it possiblethen that these are not 7 Q. Sorry, | can't hear you very well.

8 true outliers, that data points that you've 8 MS.ELLIOTT:

9 excluded? 9 A. Sorry,on thecolumnlabelled Y’s, Excluded
10 MS. ELLIOTT: 10 Data Points, you take the bottom four Y's, is
11  A. Itdependson what your standard is of true 11 the simpleway to expressit, over thelast
12 outliers. 12 ten-year period as the excluded four points.

13 MS. NEWBURY: 13 MS. NEWBURY:
14 Q. Andwhat isastandard for true outliers? 14 Q. Andwhich arethe highsand which are the
15 MS.ELLIOTT: 15 lows?
16 A. | don't know, | guess, you said that. | don't 16 MS. ELLIOTT:
17 know what your standard is. 17 A. Wadl, ontheyellow highlight you can see the
18 MS. NEWBURY: 18 values of the percentage changes and the ones
19 Q. I'mgoingto refer youto severa exhibits. 19 that are positive are the highs and the ones
20 These are the exhibits sD 1 through sD 4. So, 20 that are negative would be referred to as the
21 looking here at sD 1, now this is Mr. 21 lows.
22 Doherty’s, | guess, summary is his 22 MS.NEWBURY:
23 understanding of your regression analysis. 23 Q. Andcanyou identify those by the year, half
24 And this one, sb 1, would bethe ten-year 24 year?
25 period ending December 2012. Isthat correct? 25 MS.ELLIOTT:

Page 158 Page 160

1 Did I understand that you’ ve have a chanceto 1 A Wdl, yes, | can. 2003-1, 2005-1 -

2 review these exhibits before? 2 MS.NEWBURY:

3 MS.ELLIOTT: 3 Q. Arethosehighor low?

4 A. Yes, um-hm. 4 MS.ELLIOTT:

5 MS. NEWBURY: 5 A. Wehave togo acrossand they’'relow, the

6 Q. Okay. And canyou just identify what the low 6 negative.

7 and high outliers here, that he’ sidentified, 7 MS.NEWBURY:

8 but these were your outliers. 8 Q. Okay. So, thosetwo that you read, 2003 H1

9 MS.ELLIOTT: 9 and 2005 H1 are low.

10 A. |l can't seeiton the screento--I mean, | 10 MS.ELLIOTT:

11 don’'t see the full pageto tell you that. 11 A. Um-hm.

12 MS. NEWBURY: 12 MS. NEWBURY:

13 Q. Okay. I’'vegot copies of the exhibit, | could 13 Q. And2007-2 and 11-2 are the high values.
14 providethat. | can provide these to you. 14 MS. NEWBURY:

15 MS. GLYNN: 15 Q. And could we go through the same exercise for
16 Q. There'sabinder onthedesk containing all 16 the other three exhibits. So, what arethe
17 the exhibits as well. 17 two low outliersfor sb 22

18 MS. NEWBURY: 18 MS.ELLIOTT:

19 Q. I'll bereferring to (inaudible - away from 19 A 11-2and 8-2.

20 microphone) markings on that. So, I'll just 20 MS.NEWBURY:

21 leave that - 21 Q. That'sright, there'sonly--that'sthe five
22 MS. ELLIOTT: 22 year period, so there would be one of each.
23 A. Okay, yes. 23 MS.ELLIOTT:

24 MS. NEWBURY: 24 A. Yes.

25 Q. So, canyou identify then the two low outliers 25 MS. NEWBURY:
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1 Q. So, thelowis? 1 what did on what we did, present here.
2 MS. ELLIOTT: 2 MS.NEWBURY:
3 A. The8-2 and the high would be the 11-2. 3 Q. My question is morefocused on how--and |
4 MS. NEWBURY: 4 understand that you’ve changed, that you've
5 Q. Andfor sb3? So, that'saten year period 5 abandoned the approach at looking the change
6 ending June 2012, can you identify the two low 6 in valuesfrom on periodto a comparable
7 outliers? 7 period in the following year, and now you
8 MS.ELLIOTT: 8 focus on the actual datafor that period of
9 A. That would be the 2002-2 and 2005-1 and yes, 9 time.
10 then the high ones are the 7-2 and 11-2. 10 MS. ELLIOTT:
11 MS. NEWBURY: 1  A. Yes
12 Q. Okay, thank you. Andfinally sD4 whichis 12 MS. NEWBURY:
13 the five-year period ending June of 2012, and 13 Q. But still we have an issue that an outlier was
14 what isthe low outlier? 14 identified and that really doesn’'t have
15 MS. ELLIOTT: 15 anything to do with the ease of somebody
16 A. Therewe have 8-2 and then the high is 7-2. 16 understanding what’ s happening, it’s that the
17 MS. NEWBURY: 17 model somehow, because of, it seemsto meit's
18 Q. Okay. So, comparing the two ten year period 18 because you've decided ona pre-determined
19 of times, so that’ssbi1and sD 3, it’s noted 19 basis, I'm going to take two high and exclude
20 that 2003 H1 which was alow outlier isno 20 then and two low.
21 longer considered to be alow outlier when you 21 MS. ELLIOTT:
22 look the ten year period in regression of the 22 A. That’scorrect.
23 SD 3, 2012. Can you explain why something 23 MS. NEWBURY:
24 that was considered alow outlier in avery 24 Q. Andyou might runinto the same problemsif
25 similar ten year period of time with asimple 25 you look at the data, not just the change
Page 162 Page 164
1 shift back six monthsisnow no longer alow 1 between periods of time, but if you look at
2 outlier? 2 the dataitself, if you arbitrarily decide I’'m
3 MS.ELLIOTT: 3 going to take two high and take two low, you
4 A. Sure. The approach that we were trying to use 4 might end up with these sort of unusual
5 hereand | stated earlier today that we did 5 situations, | would suggest, where something
6 this percentage change approach to the 6 that is an outlier for one ten-year period of
7 exclusionsjust in our two reports for June 7 time suddenly loses that characteristic of
8 2012 and December 2012, we weretryingtosee | 8 being an outlier for adlightly different ten-
9 what were the larger percentage changes and 9 year period of time. Isthere an explanation
10 exclude those related data points. It's 10 for that?
11 difficult to follow and it’s being pointed out 11 MS. ELLIOTT:
12 here, rightly so, that it’s difficult to make 12  A. Yes. Whenwelook at the data, when we take
13 the comparison from different models, we end 13 the ten years of data, we will run the
14 up excluding different points and also, it's 14 regression model without any exclusions and
15 hard to follow which points were excluded. 15 then we run it with the exclusions and we find
16 And so we acknowledge that and we worded that |16 that you're getting abetter fit with the
17 to the dollar basis exclusion that’s cleaner 17 exclusions because of the volatility of this
18 and everyone can follow it. Andas weaso 18 data. So, when we take out those extreme high
19 presented today, if in fact, we have choseto 19 points and the extreme low points, we get a
20 look the dollar values, exclude those, on a 20 little better fitsin the regression model and
21 basis of here’s thelarge, high dollar one, 21 that’ s the reason for doing it. So, you know,
22 exclude that; here's a low dollar amount, 22 we acknowledge that our approach of the
23 exclude that over the period that we're 23 percentage, we thought that might be, you
24 looking at, we, in fact, for this particular 24 know, better, but in fact, in hindsight, it's
25 circumstance, get a bigger negative trend than 25 confusing and convoluted and so, we' ve stopped
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1 that. On the other hand, we do acknowledge, 1 that you would not have this same situation

2 if we had prepared on thedollar basis, the 2 where alow outlier for aten-year period of

3 lost trend rate would have been a larger 3 time disappears in the subsequent ten-year

4 negative than we calculated. So, it's an 4 period of time because that’ s arising from the

5 approach that we take to try to smooth out the 5 approach of looking at the changesof the

6 results from review to review. That’s what we 6 value?

7 do. 7 MS.ELLIOTT:

8 MS. NEWBURY: 8 A. Well, when youlook attheten-year trend,

9 Q. Andagain, my focus hereis not on the change 9 excluding two high and two low and adollar
10 invalues. It's more on the fact that you've 10 value and we looked at it ending December 2012
11 got an outlier that suddenly loses its 11 and then if we shift everything up to look at
12 characteristic. Is that because--are you 12 ten years ending up June 2012, it’'s possible
13 saying that an outlier for the first ten-year 13 that there could be different high and low
14 period lost its characteristic in the second 14 datapoints, just dueto what the datais,

15 ten-year period because of your approach of 15 that’ s possible.

16 using the change of values? 16 MS. NEWBURY:

17 MS.ELLIOTT: 17 Q. Ifthat therewere the case though, so if

18 A. What I'mtrying to express hereis, you know, 18 something--1 understand it now, you've got

19 | take, | think, Mr. Doherty’s comments, 19 another six month period of time, you’ve lost

20 finding it confusing and showing that there's 20 the data point on the more recent end and

21 ashift in what's excluded when we look at the 21 you've gained a data point on the beginning of

22 two. It'savalid comment. | acknowledge it 22 that period of time, but you know, if you

23 and that’swhy we changed in our subsequent 23 were--something that you decided was an

24 reports. We triedit, it was a little 24 outlier was something that was so unusual from

25 convoluted and confusing and we stopped using |25 the rest of the data, | could see that maybe
Page 166 Page 168

1 it. Welearned. We don’t do everything the 1 you'vegot a new even more unusual higher

2 same all the time. We try tolook at what 2 point or lower point from the data, but would

3 we're going; how to do it better. We made an 3 till--would that point, that low point 2003 H1

4 attempt and it didn’t work. 4 till not have the characteristic of looking

5 MS. NEWBURY: 5 likeit'sout of keeping with everything else?

6 Q. Butthat'snot my question. My questionis 6 MS.ELLIOTT:

7 did that approach that you’ve not abandoned 7 A If your questioniscould we exclude a point

8 and | understand the reasons for that and | 8 looking on a percentage basis and exclude that

9 accept that, but the approach of focusing on 9 same point looking on a dollar basis, that’s
10 the change of values as opposed to the actual 10 possible, sure.

11 datavalues themselves, but looking at the 11 MS. NEWBURY:

12 change, how much did it go up; how much didit |12 Q. Okay. Now, you still havethe sD 1and sD 4
13 go down. Did that actually cause this 13 on your desk there, | believe, Ms. Elliott.

14 situation that you have, an outlier identifer, 14 MS. ELLIOTT:

15 thelow outlier of 2003 H1 in December 2012no |15 A. Yes.

16 longer being an outlier. 16 MS. NEWBURY:

17 MS.ELLIOTT: 17 Q. So,I'mgoing to request that you circleall
18 A. Yeah, absolutely. So, that’s the point, that 18 of the outliers on the graphs that Mr. Doherty
19 it'sabit confusing, hard to follow what’'s 19 has on the second page for each of those
20 excluded and | acknowledge it as somethingwe |20 exhibits. So, those outliersthat you just

21 tried. 1t's hard to follow and yeah, so. 21 identified for us, thetwo high and two low
22 MS.NEWBURY: 22 for each of theten year periods and the low
23 Q. So,you're sayingthat if you had not used 23 and high for each of the five year periods,
24 that approach, if you focused instead on the 24 I’m going to ask that you circle where those
25 data points themselves and not the changes, 25 are on the graphs.
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1 MS. GLYNN: 1 documents. These are her outliers, but she

2 Q Wewon't be ableto seethat on the screen. 2 hasn’t provided a graph showing where the

3 MS.NEWBURY: 3 outliersare. So, we're asking that she now

4 Q. No, butwhat | could dois get her to do the 4 identify those outliers on each of the four

5 circleson this graph and then I’'m going to 5 graphs for our benefit, so that we can

6 regquest that that be entered as exhibits. And 6 visualize what she’ s talking about.

7 then we could have them downloaded and 7 MS. GLYNN:

8 available on the screen.  It'sjust going to 8 Q. Areyou ableto do that, Ms. Elliott?

9 help to identify for us where these different 9 MS.ELLIOTT:

10 outliers are. 10 A. Ithink so, I will try. (REQUEST)
11 MS. GLYNN: 11 MS. NEWBURY:
12 Q. Youwant totakethat document now and do 12 Q. Andthat's the actual in-fitted model lost
13 that ? 13 Cost.
14 MS. NEWBURY: 14 MS. GLYNN:
15 Q. Yes. 15 Q. So, thefirst graph there.
16 MS. GLYNN: 16 MS. NEWBURY:
17 Q. Tousefor questioning now. 17 Q. Yes
18 MS. NEWBURY: 18 MS. GLYNN:
19 Q. Yes. 19 Q. Okay.
20 MS. GLYNN: 20 MS. NEWBURY:
21 Q. Okay, I'mnot sure--I mean, weonly have 15 21 Q. Actualy both graphs because they are dightly
22 minutes |eft in the day. 22 different. Just oneisfine.
23 MS. NEWBURY: 23 VICE CHAIR WHALEN:
24 Q. It'sjusttodemonstrate. Ms. Elliott, | mean 24 Q. Ms. Glynn, are you clear on what's being
25 we could do this--it shouldn’t take more than- 25 questioned?
Page 170 Page 172

1 -I mean she' s gone through these graphs, so it 1 MS. GLYNN:

2 shouldn’t take more than ten minutesto do 2 Q. lthink so. I'mgoingto look to my witness

3 that. | mean, this isthe exercise that | 3 and make sure she's -

4 want her to go through. She’s given evidence 4 MS.ELLIOTT:

5 that outliers are easily noticeableto lay 5 A. |think so, yes.

6 people. | justwant to have Ms. Elliott 6 STAMP, Q.C.

7 identify those on the graphs. 7 Q. Justfor clarification then, Ms. Elliott -

8 MS.ELLIOTT: 8 MS. GLYNN:

9 A. |l don't haveapen, sorry. 9 Q. How about if | tell you what my understanding
10 VICE CHAIR WHALEN: 10 isand you can tell me. So, for each of these
11 Q. Would it make sense for her to take this away 11 exhibits, sD 1 through 4, on the actual in-
12 and do thisevening, overnight, rather than 12 fitted model, lost cost graph, you would like
13 have her do it on the stand right now. 13 Ms. Elliott to circle the data points that she
14 MS. NEWBURY: 14 has excluded.

15 Q. Or we cantake abreak. 15 STAMP, Q.C.:

16 MR. JOHNSON: 16 Q. Thefour and the two with each of these.

17 Q. I'dfeel more comfortable if she’snot doing 17 MS. GLYNN:

18 it on the fly. 18 Q. | think we haveit.

19 VICE CHAIR WHALEN: 19 MS. NEWBURY:

20 Q. Absolutely. 20 Q. Onpage4 of thereport at cA ow 001, under
21 MS. GLYNN: 21 the heading, the data points we considered,
22 Q. So, an undertaking from Ms. Elliott to provide 22 you stated in the first paragraph, "we
23 avisua aid of the circled outliers. 23 recognize that the indicated trends produced
24 MS.NEWBURY: 24 by the regression model, particularly those
25 Q. Each and every outlier on those four 25 over afiveyear period can ben sensitiveto
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Page 173 Page 175
1 one or two of the data points'. Now, looking 1 MS.ELLIOTT:
2 that the ten year regressions that you model, 2 A Wadl, I thinkinthis case, wondering if a
3 you have automatically excluded two of the 3 sample ten data points would have two
4 highest and the two of the lowest data points 4 outliers. | think what you really want to
5 which would beatotal of four datapoints 5 think about in presenting trend rates that you
6 being excluded. Why would you, in light of 6 think are absolutely right and we're not
7 your earlier comment that aregression model 7 taking that position that’swhy wehave a
8 can be sensitiveto one or two of the data 8 variety of looks at the data, how credibleis
9 points, why would you have excluded four data 9 this data that we're looking at? And the data
10 points? 10 isnot very credible, thiscommercial data
11 MS. ELLIOTT: 11 that we'rereviewing. So, | don’t think the
12 A. That wasthe approach that we choseto usein 12 issueis that we haveten datapoints and
13 this circumstance given that wefelt that 13 we've looked at, you know, was there ahigh
14 therewas afair amount of volatility in the 14 point here and alow point and what do we get
15 data and made that choice. 15 when we exclude these extremes and what’ s the
16 MS. NEWBURY: 16 value? If you want to talk about how good is
17 Q. Okay. So, you comment then that the 17 that, really, the issueishow good isthis
18 regression model can be sensitiveto one or 18 datafor determining atrend rate? And that’s
19 two of the data points, that doesn’'t cause you 19 what we're saying, there's considerable
20 concern when you decided to exclude four of 20 uncertainty in thedata. Wethink that by
21 the data points? 21 excluding the high and the low points it’'s
22 MS. ELLIOTT: 22 helping to give amore stable measurement of
23 A. No, that doesn't. | think what it tellsusis 23 the trend rate.
24 that when you look at alost trend rate and 24 MS.NEWBURY:
25 you exclude the data points, and when you 25 Q. If aregression model can be sensitive to one
Page 174 Page 176
1 don't excludethe data points, looking at 1 or two data points, would it not aso be
2 those differences, that tells you something. 2 sensitive to excluding the data points, one or
3 So, no, | don't have concern. 3 two or up to four?
4 MS.NEWBURY: 4 MS.ELLIOTT:
5 Q. Now, the process of eliminating the two high 5 A. Absolutely. | agreefully. Andtheissueis
6 and two low for the ten year, that actually 6 that if you just exclude one or two data
7 resultsin the elimination of 20 percent of 7 points and you get a different answer or you
8 your data points. 8 use, you know, five years or six years and you
9 MS.ELLIOTT: 9 get adifferent answer, yes, that tellsyou
10 A. Weend up with 16 data points. 10 something. It tellsyou that it’s very heard,
11 MS. NEWBURY: 11 it's very challenging to pick the right
12 Q. So, 20 percent - 12 number. It definitely tells you something.
13 MS.ELLIOTT: 13 MS. NEWBURY:
14 A. Out of 20. 14 Q. Okay. And areyou saying that if you exclude
15 MS. NEWBURY: 15 the data points, that your fitis no better
16 Q. And how many would you have in thefiveyear? |16 than when you include all of the data points?
17 Would you not also reduce your data points by 17 MS.ELLIOTT:
18 20 percent? 18 A. Typicaly the fit will be better when you
19 MS. ELLIOTT: 19 exclude high points and low points, typically,
20 A. They go fromtento eight. 20 yes.
21 MS.NEWBURY: 21 MS.NEWBURY:
22 Q. So,it'sa 20 percent reduction both times. 22 Q. Okay. Andwhat wasit in this case?
23 And have you done an analysisto test for the 23 MS. ELLIOTT:
24 likelihood that asample of 20 data points 24 A. | don't havethat in front of me.
25 would contain 20 percent outliers? 25 MS. NEWBURY:
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1 Q. Okay. If you had done an analysisof ten 1 higher than just for the regular experience
2 years or five years or fifteen years and found 2 period that’ sused. This datawould not meet
3 that you had a better fit, would you have 3 the standard that we would or see in other
4 discarded that or would you have--what would 4 provinces. And I’ m repeating myself, the data
5 you have done with that? 5 isvery thin, very volatile and not reliable
6 MS.ELLIOTT: 6 interms of the estimate that is provided.
7 A. Wdl, in those cases where we running a 7 So, if you're asking medo | think this data
8 regression analysis and we have ten years of 8 isfully credible and reliable, that whatever
9 data or whatever time period and the fitis 9 trend result popsout of XL model, is the
10 really good, we don’'t necessarily exclude any 10 right number? The answer isno. It isnot
11 points unless again, we think, that that is 11 fully credible, absolutely not.
12 necessary. Here with this commercia datain 12 MS. NEWBURY:
13 Newfoundland it isthe most challenging data 13 Q. Andinyour various models that you' ve done as
14 that we look at. Of all the reviewsfor lost 14 part of your report here or your report to the
15 trend rates, it isthe most challenging. It 15 Board that filed incA ow o001, did you
16 isthe most limited data. And so thisisthe 16 consider excluding maybe two high and one low
17 approach that we've taken to try to account 17 or excluding two low and one high or looking
18 for thisvolatility in thislimited database 18 at maybe how do the data points look? Do they
19 that we have work with. So, you will geta 19 look like outliers asit relates to the graph?
20 different answer if you exclude one or two 20 Did you try other combinations and
21 data points than if you don't. And we 21 permutations of exclusion of data points?
22 generally find with that exclusion, we get a 22 MS. ELLIOTT:
23 little better fit. We' ve taken off these high 23 A. Yes, | mean, we havethe dataand| can't
24 and lows and smoothed it in alittle bit. 24 speak to specifically what was antonym when we
25 MS. NEWBURY: 25 did that, but asl said, it'sa flexible
Page 178 Page 180
1 Q. Okay. Andwhether or not you did actually get 1 model, we can test different exclusions quite
2 abetter fit, in thisparticular case, you 2 readily, but at the same time, we're trying to
3 don’t know. 3 prepare areport, where we prepare areport
4 MS.ELLIOTT: 4 every six months and we're trying to present
5 A. ldon't havethat at my finger tips, no | 5 something that’ s reasonably stable from report
6 can't tell you. 6 toreport. Sothat if every time we looked at
7 MS.NEWBURY: 7 it, we did something completely different, |
8 Q. How did you determine how sufficient the data 8 assureyouwe'd get avery different answer
9 isfor estimating trends? 9 eachtime. And so what we'retryingtodois
10 MS. ELLIOTT: 10 find some consistency--and it’ s not always the
11 A. Sorry, could you repeat that, please? 11 same, but try to do the same thing generally
12 MS. NEWBURY: 12 from report to report, we calculate the number
13 Q. How did you determine how sufficient thedata |13 using theten year and the five year models
14 was for estimating trends? | mean, you've 14 that we' ve selected to use and we average that
15 commented about the data and exclusion of 15 against what we picked thelast time, in
16 points, how do you determine what is 16 trying, if you will, almost weight what we did
17 sufficient? 17 thelast timewith what we'refinding this
18 MS. ELLIOTT: 18 time, to have some stability in our findings.
19 A. Wdl, withour different standardsand in 19 You know, it'san approach that we've used
20 terms of determining whether the data is 20 because the datais very limited and thin.
21 sufficient for determining lost trends rates 21 Andwetry tofollow that approach so that,
22 iscertainly apoint discussion and people 22 you know, we're not presenting reports where
23 have different views. The standard for 23 insurerswrite in and say, hey, how come you
24 determining whether data is sufficient for 24 changed your mind and did it this way and that
25 credibility, the credibility standard is much 25 way in every which review that we do.
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Page 181
1 MS.NEWBURY:
2 Q. Okay, sure, but interms of the exclusion of
3 outliers, | understand that these are
4 anomalies and they’ re different from the data.
5 | assumethat they don't occur on aregular
6 basis, that you regularly have every year,
7 you' re going to have two outliers on the high
8 side and two outliers on the low side.
9 MS.ELLIOTT:

Page 183
1 CERTIFICATE
2 1, Judy Moss, hereby certify that the foregoing is atrue
3 and correct transcript in the matter of a Facility
4 Association Application re: Taxi and Limousine Automobile
5 Insurance Rates heard on the 17th day of November, 2014
6 before the Board of Commissioners of Public Utilities,
7 120 Torbay Road, St. John's, Newfoundland and L abrador
8 and was transcribed by meto the best of my ability by
9 means of a sound apparatus.

10 A. Youcanaways find the two high points and 10 Dated at St. John's, Newfoundland and L abrador
11 two low points. 11 this 17th day of November, A.D., 2014
12 MS. NEWBURY: 12 Judy Moss
13 Q. But sometimesthe high points might actually 13 Discoveries Unlimited Inc.
14 bejust dightly above your typically data.
15 So, it may not actually look like an outlier
16 to alay person -
17 MS.ELLIOTT:
18 A. Sure, and if that that was the case, | think,
19 you know, we can go, | guess, to the next page
20 might help me explain, inthe--go down a
21 little bit further please. So, here we have
22 the change from year to year, the 29 percent,
23 you know, we' ve gone through this before, the
24 -11--s0, it's possible that thered be
25 something where we didn’t see anything really
Page 182
1 high or low, but this datais very limited and
2 volatile, the commercial Newfoundland data.
3 So, if you'retelling that it's—-isit likely
4 that therewon’'t be any highor low and
5 everything will be consistent? Well, | guess
6 it's possible, butthat’s not what we're
7 seeing.
8 MS. NEWBURY:
9 Q. Butevery highisnot an outlier and every low
10 is not an outlier?
11 MS.ELLIOTT:
12 A. Asl expressed, we area, our method isto take
13 thetwo highand thetwo low, that’s what
14 we're doing, yes.
15 MS. NEWBURY:
16 Q. Okay. Thank you, perhaps we could continue
17 this tomorrow morning with Ms. Elliott.
18 CHAIRMAN:
19 Q. So, 9:30 tomorrow morning?
20 MS. GLYNN:
21 Q. Weusudly start at 9:00 on the second day,
22 but it’s up to your discretion.
23 CHAIRMAN:
24 Q. Okay, 9:00.

25 Upon conclusion at 1:29 p.m.
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